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13n Marks an anomalous form.
14y We read one or more vowels in L differently from BHS.
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17p We read punctuation in L differently from BHS.
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21n Marks an anomalous form.
22y We read one or more vowels in L differently from BHS.
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x-morph = ”OSHM:HNcfsa” x- x-morph="0SHM:HR”LILILILJ_LIL[]|strong ="3068”
cantillationLevel = 70.0” strong = "b/272afidrph % POSHM:HNp” "strong = "¢,/996 |||/ A
x-morph ="0OSHM:HR/Np” x- x-morph="0OSHM:HC/R/Sp2mp” x-

cantillationLevel = 0" ] ® ”strong = ”38@afitillationLevel ="1.1.0” "strong = "b/6256 | [ I 1/ ]
x-morph = ”OSHM:HTn” "strong = ”854|X{torph = "OSHM:HRd/Ncbsa”

x-morph =”0OSHM:HR”LILILl/LIL L Msthemgrgsd 71931 | L/ X-

x-morph ="OSHM:HNcmpc/Splcp” morph ="OSHM:HTd/Pp3fs” X-

x-cantillationLevel = "1.1” ”strong = "37 Z2htillatiohlleével = ”1.1” "strong = "1/5046 | | I 1 1 1111/
x-morph = ”OSHM:HVqp3ms” ”strong = 38668ph + 'OSHM:HR/Vhc” "strong = "1|[ L]/ 1]
x-morph =”OSHM:HNp” x-cantillationLexeherph6?”OSHM:HR/Sp2mp” X-

”strong = 7853 |||/ x-morph = ”OSHM: HEatilldtiohl.evel & P 1.03ttemgngd 7838571 ||

x-morph = ”OSHM:HTd/Ncfsa” x-morph ="0SHM:HTo”L L[ ]I IL]L]|strong ="1697”
"strong ="d/2063|[LILILILILI/]  x- x-morph=”"0SHM:HNcmsc” "strong ="3068| || [_IILI]
morph ="OSHM:HTd/Pdxfs” x- x-morph="0OSHM:HNp” x-cantillationLevel ="1"

cantillationLevel = "1” strong = "3588|[ I strtohg = ”3588|[ [ ] I I a” X-

a” x-morph =”OSHM:HC” "strong = "854fndrpl'="0SHM:HC” ”strong = 73372 [ LI ILILILILI]
x-morph ="0OSHM:HR/Splcp” X- x-morph="0SHM:HVgp2mp” X-

cantillationLevel = "0.0.1” "strong = 58 ZadtillationLlel él="0.1.0” “strong = "m/6440| LI ILI_ LI/
x-morph = ”OSHM:HPp1lcp” "strong = ”428hdrph & "OSHM:HR /Ncbpc”

x-morph =”OSHM:HPdxcp” "strong = "63dtt¢nigl=""d/784| I ILILILI/A ] X-

x-morph =”"0OSHM:HD” x-cantillationLevelerh..00SHM:HTd/Ncbsa” X-
strong="d/3117| LI/ J]  x- cantillationLevel ="0.1” "strong = "c,/3808| L1 IL].]/L L
morph =”0OSHM:HTd/Ncmsa” x- x-morph ="0SHM:HC/Tn”LILILILILILILILII]|strong ="5927"

cantillationLevel =”0.0” ”strong = ”3605%-motph = TOSHM:HVqp2mp”
x-morph ="OSHM:HNcmsc/Splcp” ”strong = "b/2022|LILIILT/LICIC] X-
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morph =”0SHM:HRd/Ncmsa” x- a”x-morph="0SHM:HR”_|LI/LIILJLILILI]|strong ="6440”
cantillationLevel = "0.0” "strong = ”1/55%mharph # ”0SHM:HNcbpc/Splcs”

x-morph ="0OSHM:HR/Vqc” x- x-cantillationLevel ="0" 2 0
cantillationLevel="0"1  [] 6 8 ”strong = 3808 || [ ] X-

”strong =595 |[ [ ILILILICICIC] x- morph="0SHM:HTn”[ [ [ [ ILI.ILICI[I]|strong ="6213
morph ="0OSHM:HPplcs” x-cantillationl&¥el = ”0x}mi6rph = "OSHM:HVqi2ms”

"strong = "3068|[ LI x- "strong="1|IL L}/l ]x-morph ="0SHM:HR/Sp2ms”
morph ="OSHM:HNp” "strong =430 |[ 3 LI ["strong = 76459 | LI I L]
x-morph ="0OSHM:HNcmpc/Sp2ms”  x-morph ="OSHM:HNcmsc” X-
x-cantillationLevel = "0.1” strong = "834 (dntillatidrnlLevel = ”1.2.0” 31

a” x-morph =”OSHM:HTt” "strong = "33 8fdng="13603|[ [ [ [ |x-morph ="0SHM:HNcmsc”[ [ [ 1] 1]
x-morph ="0SHM:HVhplcs/Sp2ms”  x-morph ="0OSHM:HNcfsa” x-cantillationLevel = "1.2”
x-cantillationLevel =”0.0.0” ’strong = "nt7776dtdong = 834|111 ] a” x-

x-morph ="OSHM:HR/Ncbsc” morph ="0SHM:HTr” 3 “strong="b/8064 | [ I ILILILILICILILIC]/
"strong ="4714| [0 x-  x-morph ="0SHM:HRd/Ncmpa”  x-

morph ="OSHM:HNp” x-cantillationLevebafillftionLevel = ”1.1.0” 3* strong = "m/4605| I LILILIL]/]
strong ="m,/1004| LI/ x-morph = "OSHM:HR/D” x-cantillationLevel = "1.1”

b”  x-morph="0SHM:HR/Ncmsc” 3>  strong="c/834| [ I LILILII/LI]

24 ”strong ="5650| [ ILILILIITICI] a”  x-morph="0SHM:HC/Tr” 36

x-morph ="OSHM:HNcmpa” x- "strong="b/776|LILILIICLATIT  x-

cantillationLevel="0" 25 [] 7" morph ="0OSHM:HRd/Ncbsa” X-

”strong = "3808|[ ]| x-morph = "OSHM:¢ifitilldtionl.dvel = 1{kt063g 2stteng = "m,/8478|LILILILILILILI/LIL]
x-morph =”0SHM:HVqi3ms” "strong = "Kmarphl= "OSHM:HR/R” x-cantillationLevel = "1”

x-morph ="OSHM:HR/Sp2ms” 38 strong="c/834| I LILILILI/LI] a”

x-cantillationLevel = ”0.0.0” 26 x-morph ="OSHM:HC/Tr” "strong = "b/4325| ] ILILILILILI/ILIL
"strong = "430|[[LILILIICICIC] x- x-morph="0SHM:HRd/Ncmpa”  x-

morph =”0OSHM:HNcmpa” 27 cantillationLevel ="0.0” 3° ”strong ="m/8478| I I IILILILI/AT]
"strong = 31 2| UL x- x-morph="0SHM:HR/R” *° ”strong="1/776 | ILILILIL]/ I
morph ="OSHM:HAampa” x- x-morph="0SHM:HRd/Ncbsa” X-

cantillationLevel = "0.0” 28 strong = "592htilldtionLevel =70”* [| ° ”strong="3808|[ [ ]|

29+ [0,/00000000 000000
30+ [0 UOooOon,/00 Ooo,/0000000000d

]
—J
[
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x-morph ="0OSHM:HTn”L LI I dahfillatsomdmegrel7812% “strong ="1,/157| /LI /L]
x-morph = ”OSHM:HVvi2ms” *? ”strong =-fhiotph/=/0SHM:HR/Vqrmpc/Splcs”

x-morph ="OSHM:HR/Sp3mp” x- x-cantillationLevel =”0.0” "strong = "c/1/8104| L ILILILICICICIE] A0 /000
cantillationLevel =”1.0” 3 ”strong = "c/88088tph/="@SHM:HC/R/Vqrmpc”

x-morph =”"0SHM:HC/Tn” strong = 562ttong ="4687| [/ | | | x-morph =”OSHM:HNcfpc/Sp3ms”
x-morph = "OSHM:HVHi2ms/Sp3mp” x-wType ="x-ketiv” *°[1[] ! ”strong="3808|[ I 1]
x-cantillationLevel =”1” 44 strong = "3588thotph/= "OSHM:HTn” "strong = "5375|[ILILILILILILIC]

a” x-morph ="0SHM:HC” "strong = ”595¢-thotiph =H”0SHM:HVqi2ms” x-cantillationLevel = 71.0.0”

x-morph = ”OSHM:HPp1cs” x-cantillatiofibreoelg="0858}0" | | x-morph = "OSHM:HTo”[ I [ [ [ I']|strong ="8034”
”strong ="3068|[ | I ] ] I x-morph = "GstidfiNg"OSHM:HNcmsc”l | [ [ 1] I]|strong ="3068”

"strong ="430|[[LILI/LILCLLELT  x- x-morph ="OSHM:HNp” ”strong = "430|[ /L LI

morph ="0OSHM:HNcmpc/Sp2ms” x- x-morph="0OSHM:HNcmpc/Sp2ms” x-

cantillationLevel = "0.1.0” "strong = ”41@pdtillationLevel = 71.0” "strong = "1,/7723 |1 LI/
x-morph = ”OSHM:HNcmsa” "strong = ”706¥¢rpH == *OSHM:HRd/Ncmsa” x-cantillationLevel = 71"

x-morph =”0OSHM:HAamsa” x-cantillaticutevg="3%88| ] | ] ] a” x-morph = "OSHM:HC”

strong ="6485|[ [ ]I ]a” x-morph = "@8tHd H\a&g08da" | | | x-morph ="OSHM:HTn”

x-cantillationLevel = 70.0.0.0” "strong = "s#ohig ="5352] I [ [ IIL ][] x-morph ="0SHM:HVpi3ms”
x-morph = ”OSHM:HNcbsc” "strong = "1 [kdcanltillationLevel = 70.1.0” "strong = "3068|[ I ILILI]']

x-morph = ”OSHM:HNcmpa” strong = ”5%2hprph/= "OSHM:HNp” x-cantillationLevel = "0.1”

a” x-morph ="OSHM:HR”[ LI LIUICIC)éstoorge="1823|[ | | [/ x-morph = "OSHM:HTo”

a” x-morph="0SHM:HNcmpa” x- x-cantillationLevel="0.0.0" strong="834 || [ [ [
cantillationLevel = "0.0.0” strong = "c/5%2 K thérghl= "OSHM:HTr” LI _IL|strong = 5375

a” x-morph ="0SHM:HC/R”[IL[LILILIL L % molph|str@gBvra029i3ms” "strong = "853 | LI

x-morph =”0OSHM:HNcmpa” strong = "cA682irph + JOSHM:HTo [ /[ I ] ]/ I'I|strong =8034”

a” x-morph =”OSHM:HC/R”L LIl ]I X Jmofpiren¥GSZNAN cmsc/Sp3ms” x-

x-morph =”0OSHM:HNcmpa” x-cantillatienheitticiLevel = 0.0” "strong = "1,/7723 |1 ICICC/L]]
”strong ="1/8130|Ll/LILILILICILILL/] - x-morph =”OSHM:HRd/Ncmsa” x-cantillationLevel = 70" |
x-morph =”OSHM:HR/Vqrmpc/Splcs” [ '? ”strong="8104 | LI x-

x-cantillationLevel="0" 45 [] 1 morph="0SHM:HVqa” x-cantillationLevel ="1.0.0”

strong ="c/6213|LILILILILILI/LE]  a” 59 ”strong ="853|[ ] I |x-morph ="0SHM:HTo”[ I [ | [ I ]|strong="3117"
x-morph="0SHM:HC/Vqrmsa” 4 x-morph="0SHM:HNcmsc” ! ”strong="d/7676| [ 11111/ ]]
strong="2617|[ I ]Il 1a” x-morph = ” QSHMHiNcH@SFIM:HTd/Ncbsa” x-cantillationLevel = 1.0”
x-cantillationLevel =”1.0” 47 ”strong = "F2505}[ Natks Ja[pldcg[Where we agree

x-morph ="OSHM:HRd/Acbpa” x- with BHQ against BHS in reading L.

42+ DD00OoOOODDOOOOOO000000000

43+ JO00,00000d00

444 0/000000000,/000000000

45+ [I/00000000/000,00000000,400

46+ DD00O0O0,/O00000000,/80

47+ HD0OOOOoOoo0

48+ DD0O00O0,/000000000000,000

494 "strong = 4687 |J/L0JJIL/000  x-morph="0SHM:HNcfpc/Sples”  x-
cantillationLevel ="0”

50+ DO0OOOOOOOOO000

514 (Oo0O00000

52+ (DD000O0O00000000000,00

53Q
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54 55 »strong ="1/6942| LI/ LI %#mdrph = "0SHM:HNemsc”l UL strong = 4399”7
x-morph ="0OSHM:HR/Vpc/Sp3ms” x- x-morph="0SHM:HNcfsa” x-cantillationLevel ="0.1.1.2”
cantillationLevel =71 % strong = "k/834{rardgl="859/LILILI[ | | | ]a” x-morph ="OSHM:HPp2ms”

d” x-morph = "OSHM:HR/Tr” "strong = "6680g = ¢/11 21|11/ 1111/ Ta” x-

x-morph =”0SHM:HVpp3ms/Sp2ms” morph ="0SHM:HC/Ncmsc/Sp2ms” [ /L LI/ |strong
x-cantillationLevel =”0.0” %7 ”strong = ”306®kph/="0SHM:HC/Ncfsc/Sp2ms”

x-morph ="0SHM:HNp” %8 ”strong = "438tréng = *d/Bés0] 1/ /]

x-morph = ”OSHM:HNcmpc/Sp2ms” x- x-morph = "OSHM:HC/Ncmsc/Sp2ms”LLI/LIL /DI | st
cantillationLevel = 0" > [ ] 60 13 ”strong=ni8a#y+ TOSHM:HC/Ncfsc/Sp2ms”

x-morph ="0SHM:HAcmsc” ®! ”strong =¢28ai]latiohi.dvel = "0.1.1.1” "strong = "c/7794|[ I LI/
x-morph ="0OSHM:HNcmpa” x-cantillatiomiergh="0ASBtM:HC/Ncmsc/Sp2ms”

62 7strong ="5647 | I x- ”strong ="c/2543|I_ILI/LILCLCE A0

morph =”0OSHM:HVqi2ms” x-cantillationtawelph?9 " IOSHM:HC/Ncbsc/Sp2ms”

63 strong="c/6213| I/ x-cantillationLevel = 70.1.1.0” "strong = "c/3605|[ I 11/ ][]

a” x-morph ="0OSHM:HC/Vqq2ms” x- x-morph="0SHM:HC/Ncmsc”[ I I/LILIL IO strong =
cantillationLevel =”70.0” ®* ”strong = ”360HjotpH = "OSHM:HNcfsc/Sp2ms” x-cantillationLevel = 70.1.1
x-morph =”0OSHM:HNcmsc” ®° strong ="st869g(="1¢/1 616 [T/ x-

x-morph ="OSHM:HNcfsc/Sp2ms” x-cammilbaplonl #8HM'GIC/Ncmsc/Sp2ms” x-

66 [] 14 »strong ="c/3117|LLILILILL/ cantillationLevel = 70.1.0” strong = "834 | LI

x-morph = ”OSHM:HC/Ncmsc” x-cantillaaionbesep 2P QSAM:HTr” ”strong = "b/8179| LI/ LI
"strong ="d,/7637| L/ x-morph = ”"OSHM:HR /Ncmpe/Sp2ms”

x-morph =”OSHM:HTd/Aomsa” x-cantillatiamfitaeion? el = 70.1” "strong = ”4616 | LIL_ILI_ILILIL

67 »strong ="7676|LILILILIILILI] x-morphe=riogHiv: FOSHMHR ” x-cantillationLevel = 70.0.1”
x-cantillationLevel =”1.0” %8 ”strong = "T&@6&84 = "15117|l/L LIl | [ 1[]] x-morph =”OSHM:HVqi3ms”
x-morph ="0OSHM:HR/Np” %° ”strong = 3d&@jtillationllevel =70.0.0” "strong = "5650| |/ 1T
x-morph =”0SHM:HNcmpc/Sp2ms” x-  x-morph = ”OSHM:HNcmsc/Sp2ms” ”strong = "c¢/519| 1 IL1/L ]
cantillationLevel ="1"7° ”strong = ”3808&}midrph = "OSHM:HC/Ncfsc/Sp2ms”

x-morph = ”OSHM:HTn” strong = ”621 3| x!cantillatiohl.evel = 0.0” “strong = 73644 | LI/ LI

a” x-morph ="0SHM:HVqi2ms” "strong x-186f#/= IOSHM:HR/Sp2ms” x-cantillationLevel = "0”

54n Marks an anomalous form.

55p We read punctuation in L differently from BHS.

56 + [/00000000,0000,00000000,00

57 + JOOO/00000000,00000

58+ HH0OOO000C000

59 4+ H/0000000000,/00000000

60U We agree with both BHS 1997 and BHQ on an unexpected reading.
o1 4+ [HIOOH-HOOOOHO

62 4+ [HOOOHO0OOO0O0

63 4+ HIOOOOOOOCOOO00HO

o4 4+ [IOOOO00,A0000000o00,a0

65 + OO0

66 + [0, DO
67 + 0000
68 + (OO0
69+ 0000

LOo0/A00000000000
UOO000000oo0a,00
OO0

0,00

o000

72 + 00000000 O00000o000dd,a0
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7L[] 15 7strong = "c/2142| LU x btph = "OSHM:HVpa” ”strong = "853 | L]

x-morph = "OSHM:HC/Vqq2ms” x-cantillatimnbével ©SHRIIATo” I I l/L [ I ]]|strong="1"

72 strong ="3588|L L[ [ ]| a” x-morph = 308t 0SHM: HNdstsorgp215550”

x-morph =”OSHM:HNcmsa” 7® ”strong =cih®@lbtionllevél="111.0” "strong ="c/853|[ I 1 1/ 1]
x-morph =”0SHM:HVqp2ms” x-cantillatiomiayd = "OSEN:HC/To”L [ /LI |strong = 517"

74 [J7strong ="b/776|JJLILILILI/LILI] x- x-morph = "OSHM:HNcfsc/Sp2ms” x-cantillationLevel ="1.1”

morph =”0OSHM:HR/Ncbsc” strong = " 4&tieiig/="Tky834| I/ a7 x-
x-morph = ”OSHM:HNp” x-cantillationLewelrpli & 20SHM:HR /Tr” ”strong = "6680|[ 1|1/ 1L IL]]
75 7strong ="c/3318| LI/ A dorph = "OSHM:HVpp3ms/Sp2ms” x-

x-morph =”0SHM:HC/Vhw3ms/Sp2ms’cantillationLevel = ”1.0” "strong = 73068 |[ | | I [ 11|
x-cantillationLevel ="1.1.0.0” 7® ”strongx=fi®0pB = "OSHNVIHNp” "strong = 7430|[ I I/L LI

x-morph ="0OSHM:HNp” 77 ”strong = "430fhorph=I0SHM:HNcmpc/Sp2ms” x-

x-morph = ”OSHM:HNcmpc/Sp2ms” x- cantillationLevel =”1” "strong = 4616 ||| [L] 1[I
cantillationLevel =”1.1.0” 78 ”strong = "m868#] = IASHM/HR” x-cantillationLevel = 70.2.1.0”

x-morph =”0OSHM:HR/D” x-cantillationlléVsetrotig. 2748 |[ /LI [ [ 1] x-morph = "OSHM:HVhi3mp/Sn”
79 »strong ="b/3027 |LILILILl/ 1L x-morphtrot@SHMIHR)/Ncsa’ [ | ] ] x-morph ="0SHM:HNcmpc/Sp2ms”
80 »strong ="2389 | [LILIILILILI] x-morphecasHMibiflafsal’= "0.2.1” "strong = "c/4616 | LI/
x-cantillationLevel =71.0” 8! ”strong = "a/@220+ TOSHM:HZ/R/x cantillationLevel = 70.2.0”

x-morph ="OSHM:HC/R/Ncbsa” ”strong’st?6ihg86{”B1 90| LI I | x-morph = "OSHM:HVqi3ms”

x-morph = ”OSHM:HV(qsfsa” x-cantillatiotstewmeg=""1| | |/ [ | | x-morph ="0SHM:HR/Sp2fs”

82 strong ="5921|[ ] Il a” x-morph = ”OSHdMrHRIAtiohl.é Vel stténg =stagl="5921 | [ [ ]

¢” x-morph ="OSHM:HTm” x-cantillationl'evalerph. £ 1OSHM:HR” x-cantillationLevel =”0.1.0”

"strong = "6680|[ I IL1/L1 LI L] x-morph = § 06 v Hd/p3tis) Sp2nds? I |/ 111 x-

x-cantillationLevel =70.1.0” "strong = ”3fis8pH =+ *OSHM:HTd/Ncfsa” x-cantillationLevel = "0.1”

x-morph =”OSHM:HNp” ”strong = 430|strohg % P&34|[l[1 1 [ []a” x-morph ="0SHM:HTr”L LI ]|strong =73
x-morph =”"0SHM:HNcmpc/Sp2ms” x-  x-morph ="OSHM:HNp” "strong = "430|[L]/L LI
cantillationLevel =”0.1” strong = ”1/621 XHmdrph = POSHM:HNcmpc/Sp2ms” x-

a” x-morph ="0SHM:HR/Vqc” x-cantillaciomilatibal’ével = "0.0” "strong = 5414 |1 L]

”strong = "853 |[ | ]| x-morph = "OSHM: HFnibrph = O$stiddrig vqidds?”” strong = 1|1/

x-morph = ”OSHM:HNcmsc” ”strong = "dx#6@th/="OSHM:{R/Sp2fs” x-cantillationLevel = 70" |

x-morph =”OSHM:HTd/Ncbsa” x-cantillatibhsuretng 29”3808 | [ [ || x-morph = "OSHM:HTn”

83 Marks a place where we agree with BH® cantillationLevel = "0.0” 8¢ ”strong ="7523| [ ILILILILILII]
against BHS in reading L. 8* 85 [] 1° ”strongorpB5TZ)SHM:HV§i2ms” x-cantillationLevel = ”0”

73 + JDUDO0OC0000

74+ JDJDO0DDODCD0000000

75 + 000000000 0OD00oo0oo

76 + (JU,/0000000,/00000,/00000000,00
77 + 0000000000000

78 + (J0,/00000000000,00000000
79 + JOO000,/00000000,00

80 4+ [H00,H000000 000

81 ¢+ JJDD0000000oo00

82 ¢ (JJDD0DD0D00000000

83Q

84n Marks an anomalous form.

85p We read punctuation in L differently from BHS.

86 4 (00000
87 + NOUOO00OOOOOO0o00a
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87 ][] '® 7strong="c/3808|ILILILI/L1LJ x-morph="0SHM:HNcmsc”[ | LI/ ILILILIII]|strong="6951"
x-morph ="OSHM:HC/Tn” x-cantillatiomt.enelpti’6.00SHM:HNcmsc/Sp2mp” x-

88 »strong ="5003 || [T x-morplast NS HMEER &} i21tis1.1.0” "strong = "b/2022 |1/
x-cantillationLevel =707 8 [1[] 1° 7strong-marB3898(MDSHMHRd/Ncmsa” x-cantillationLevel =71.1.1”
x-morph =”0OSHM:HC/Tn” x-cantillationlstvehg 20078432 | | I [ /[ '] x-morph ="OSHM:HR/Ncmr
90 »strong = "1589|LILILILILILLILL] x-morphtesiQSHM;H84i 2k | /L | ] x-morph ="0OSHM:HTd/Ncbsa”
x-cantillationLevel ="0” 1 [1[] 2° ”strong-ediniBaaisfillevel# 11.1.0” "strong = "d,/6051 | 1L /A )]
x-morph =”0OSHM:HC/Tn”[ [ ILILILILII ] ¥strongh="60SAM:HTd/Ncmsa” ”strong = "c/d/6205| LI ]
b” x-morph = ”OSHM:HVqi2ms” "strong xthg7a#53|" OSEMFC /Td/Ncmsa” x-cantillationLevel = 71.1”
x-morph =”"0OSHM:HR/Ncmsc/Sp2ms”  strong ="6963| | [ [ [ ]a” x-morph =”"0OSHM:HNcmsa”
x-cantillationLevel =70.0” ”strong = ”57@Fjong + '1419| [ [ [ ] [/ ]a” x-morph =”"0OSHM:HAamsa”
x-morph =”0OSHM:HNcmsc” ”strong = "7Z2afitillatibhllevel = 1.0” "strong = "c,/3808|ILILILI/LIL]
x-morph = ”OSHM:HNcmsa” x-cantillationhemegdb=200SHM:HC,/Tn” "strong = ”3254| L[] ]']

(121 ”strong ="c/3808|[ I Il ]/[ 11 x-morphreti@dSHMBMMIHVqp3ms” x-cantillationLevel = "1”

strong ="2530|[ILILILILILILI] a” x-morph 2st@sigvepevavaay” /LI CC00E A0
x-cantillationLevel = "1.0” ”strong = "80'mdrph £’OSHM:HC/Vqw3ms/Sp3mp”

x-morph = ”OSHM:HNcfsc” "strong = "7 468#ntifationIlevel = ”0.1.1” strong = "5921 || ]
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1015 We read punctuation in L differently from BHS.
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104 Marks an anomalous form.
1055 We read punctuation in L differently from BHS.
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x-morph = ”OSHM:HC/Vtw1cs” "strong =db3phl= "OSHM:HVqi3mp” x-cantillationLevel = "1.3.1”
x-morph =”0OSHM:HR”[ I LI |strofigrotgoe8d /776 |1 1]/ I1x-morph = "OSHM:HTd/Ncbsa’
x-morph = ”OSHM:HNp” x-cantillationLexebatill&idhLevel = 71.3.0” strong = "834|[ [ I 1L

"strong = "c/559|LLILILILIL/ I x-morph & 0stdMikE /OFHMLITr” "strong = "3318 | LI/ L]
x-cantillationLevel = "1.2” "strong = ”136{/morfph/=""0SHM:HVhp2ms/Splcp” "strong = "m/8033|[ [ I
x-morph =”0OSHM:HNcmpc/Splcs” "strangrotB6I|OSHMIHR /D” x-cantillationLevel = 71.3”

x-morph =”OSHM:HNp” x-cantillationLeiatterigl=17it/1097|[ | | I I[LI[]/[ '] x-morph = "OSHM:HR /Ncm
”strong = "408|[ I ]| x-morph = "OSHM:HFednfilldtioni.éviel + *{5t2ob 2stipag32 73201 | LI
x-morph = ”OSHM:HVhj2ms” strong = "5 drph #"OSHM:HVqc” ”strong = 3068 |[ |1 ILILILI]

a” x-morph =”"OSHM:HNcmsc/Sp2ms” x-morph ="OSHM:HNp” x-cantillationLevel ="1.2”
x-cantillationLevel =71.1.0” strong = "c/5a68§ % /83| [ /AL /T x-

x-morph ="0OSHM:HC/Ncfsc/Sp2ms” morph ="0SHM:HR/Vhc/Sp3mp” x-cantillationLevel ="1.1”
x-cantillationLevel = "1.1” strong = "834(istrohg % 413|[ | || x-morph ="OSHM:HR”[ | LI 111/l | stre
a” x-morph ="OSHM:HTr” "strong = "62991drph = "OSHM:HTd/Ncbsa” x-cantillationLevel = 71.0”
x-morph =”0SHM:HVqp2ms” x-cantillatsondrgyel283%/07 | | [ ]a” x-morph ="0SHM:HTr”[ [T
"strong ="b/1433|ILl/LILILILII/L] x-morph = "OSHM:HVpp3ms” "strong = "1|[ I 1111/ ]

x-morph ="0OSHM:HR/Ncmsc/Sp2ms” x-morph ="OSHM:HR/Sp3mp” x-cantillationLevel ="1”
x-cantillationLevel =17 strong = "834 || "$ttong = "c/m/8135|[IL1/L LI LN AT A

a” x-morph ="OSHM:HTr”[ [ [ ILIL L k/tmiooptg="0SH®1:HC/R /Ncfsc/Sp3ms”
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"strong = "853 |L/LILILILJLIL]x-morph = ”GShibkptiFe/S)s3iMirHC/Vqv2ms”

x-cantillationLevel = 70.1” "strong = 33 18ttong = 14131/ | ] | x-morph = "OSHM:HR/Sp1cs”
x-morph = ”OSHM:HVhp3ms/Sp3mp”  x-cantillationLevel ="1.0” "strong = "d/2022|[ /L1111
x-cantillationLevel = ”0.0” ’strong = ”1/439hfriph ="0SHM/HTA /Ncmsa/Sd” x-

x-morph =”0OSHM:HR/Vhc/Sp3mp” strocgntillatitadzvél =11 Stfong 7 ck6213| I AT]

b” x-morph = ”"OSHM:HRd/Ncmsa” x-carafllativmhereh="WSHM:HC/Vqq2ms”

29 7strong ="c/1992|[ILILILI/L Il x-morph’stt@gHMiHE/PpBipk-morph = ”OSHM:HR /Sp2ms”

strong ="5971 |11/l a” x-morphe=c@siHMibiN @mst£SiR6is strong = 7727 | I LI
x-cantillationLevel = "1.0” "strong = "c/54-58irph/=" OSHMIHN st “strong = 76086 |1 1 I

x-morph ="0OSHM:HC/Ncfsc/Sp2ms”  x-morph ="OSHM:HNcmsa” X-

x-cantillationLevel = ”1” strong = "834| | cadtillatibnLevel =”0”[] ? ”strong = "c,/3789|LILILILILI /A
a” x-morph ="0OSHM:HTr” "strong = “33%&fidrph = "OSHNIHC/Vqilcs” X-

x-morph = ”OSHM:HVhp2ms” x-cantillatéantifiatieri®eted "1.2.0” strong = 5921 | I ]
strong="b/3581 |1 ILI/LILILILI/LILILIb” a” x-morph =”0SHM:HR”LILILILILILIL]/LL] ] |strong =d/3871”
x-morph ="0OSHM:HR/Ncmsc/Sp2ms” x-morph ="OSHM:HTd/Ncmpa”  x-
strong="d/1419|LLILILILILIL/L T a” x-meepttid §0OSHMvEIEd 7 A2h3attong = "853 |[ | ||
x-cantillationLevel = ”0.1” "strong = ”c/by28affh ="@SHM:HTo AL /L | strong = "d/1697”
x-morph ="OSHM:HC/R/Ncbsc/Sp2ms”x-morph ="OSHM:HTd/Ncmpa”  x-

x-cantillationLevel = 70.0” "strong = ”d/xb8illationLevel = 1/17 strong = 7834|111

x-morph = ”OSHM:HTd/Vqsfsa” x-cantillatiomhereh="WSHM:HTr” "strong = "1961 | |1 ]|

0 x-morph = "OSHM:HVqp3cp” X-
»strong = "b/6256| | ] ][]/ JcantillationLevel ="1.0.0” strong ="5921 | Il
1 O(-morph=”OSHM:HRd/Ncbsaa” x-morph =”OSHM:HR”LILILILIICIL]/LE ] |strong = 7d /38717
strong = "d/1931 | LI []/[J]]x-morph ="OSHM:HTd/Ncmpa”
x-morph = ”OSHM:HTd,/Pp3fs” X- ”Strong=”d/7223|\ HEEEERRRRRVEN

cantillationLevel =”1.1.1.0” "strong = ”%@@@@Gﬂ@SHM:EITdiAampa” o

x-morph = ”OSHM:HVqp3ms” "strong = "G0¢Blationlievel = 71.0” strong = 834|000

x-morph = "OSHM:HNp” "strong = ”413|&]/Xfmdrph = "OSHM:HTr” "strong = "7665| 00000000000
x-morph ="0OSHM:HR/Splcs” x. Xx-morph= ”OSHM:EIY,PPZTDS” i -

cantillationLevel = ”1.1.1” "strong = "645gtillationLevel = *1” strong ="c/7760] /I
x-morph ="0OSHM:HVqv2ms”[ | || /DDDPS’HBH?LPI}E »OSHM:HC,/Vqq2ms/Sp3mp”

x-morph ="OSHM:HR/Sp2ms” x. x-cantillationLevel ="0.0" "strong = "b,/727 |11 I/
cantillationLevel =71.1.0.0” "strong = "8¥#n¢rph = 'OSHM:HRd/Ncbsa”

x-morph = ”0SHM:HAcemdc” T ¥¢epkilatiogbavel = ”0”] °
orph —"OSHM:HNempe? 106 strong = ¢/6313|_LL LT 1/T]

”

Marks a place where we agree with @ x-morph="OSHM:HC/Vqwlcs”
BHQ against BHS in reading L. 17 7strong="727|lJ.l LIl L]Jx-morph="OSHM:HNcbsc”

108 109 rgprong =768|[L[JJJ ] x-cantillationLevel="1.1.0" "strong="6086| IEREEN
x-morph = "OSHM:HNcfpa” x. x-morph="0SHM:HNcmpc” "strong = 7848 | LI

cantillationLevel =”71.1.0” ”strong = "k/ ﬁmmﬂﬁﬂmﬂ‘l\lﬁﬂﬂﬁp&ﬁﬂ X-
x-morph = "OSHM:HRd/Aampa”  x- cantillationLevel="1.1""strong="c/6458|[ 1L LI/l

cantillationLevel = ”1.1” ”strong = ”c/5927Mdrph ="OSHM:HC/Vqwles”  x-

106Q

107n Marks an anomalous form.
108, We read punctuation in L differently from BHS.
109y We read one or more vowels in L differently from BHS.
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cantillationLevel = "1.0.0” "strong = ”814Zorph ="0SHM:HC/Vqw3ms/Sp3mp”

x-morph =”"0SHM:HAcmdc”L LU | $stooge=>38068 | LI X-

x-morph =”OSHM:HNcmpc” "strong = ”G8prph =" OSHM: HNp” x-cantillationLevel = ”0.0”

x-morph = "OSHM:HNcfpa” x- ”strong = "413|[]/[ 1 /x-morph ="OSHM:HR/Sp1cs”
cantillationLevel = ”1.0” strong = "k/7223fantillationLevel=/10"] | 5

x-morph ="0SHM:HRd/Aampa” x- “strong="c/6437| LI/ x-

cantillationLevel = ”1” ”strong = "c/5927jhérph =PQSHM:HC/Vqwlcs” X-

x-morph ="0SHM:HC/Vqw1lcs” cantillationLevel =1.2.1” "strong = "c/3381|ILILILILILI/LICIC]

"strong = "d/2022| /L] x- x-morph="0OSHM:HC/Vqwlcs”  x-

morph ="0SHM:HTd/Ncmsa/Sd” x- cantillationLevel ="1.2.0” strong = "4480|[ |||
cantillationLevel =”0.1” ”strong = ”c/8147 k-tlorpH = 7OSHM:HR” | [ L1/ [ I ]|strong ="d/2022”
x-morph ="0OSHM:HC/Acmdc” x-morph="0SHM:HTd/Ncmsa”  x-

"strong = "d/3871 |LILILILILICIE] /0] cantillationLevel =1.2” strong = "c,/7760 | LI ILILILIL] /AL
x-morph="0SHM:HTd/Ncmpa” x- a” x-morph="0OSHM:HC/Vqwlcs” x-

cantillationLevel =”0.0” ”strong = ”b/302altiNlatiohllexel # P1.1.0” “strong = 7853 |[ ] [

x-morph =”"0OSHM:HR/Ncbsc/Sples”  x-morph="0SHM:HTo”l [ [ [ [ [ I[]/L1L][]|strong="d/3871”

x-cantillationLevel = 0" 4 x-morph="0SHM:HTd/Ncmpa”  x-
”strong = "c/3789| LI/ cantillationLevel =117 ”strong = "b/727 | LI/
x-morph ="OSHM:HC/Vqw3ms” x-morph ="OSHM:HRd/Ncbsa” X-

strong ="5921|[ ] ]'l a” x-morph = ”OSH¥hHRAtbhIlevel=/11.0" |stromg—="838871"/ | ] ] |
x-morph="0SHM:HTd/Ncmpa” x- a”x-morph="0SHM:HTr” strong="6213|[ [ ILII LTI
cantillationLevel = "1.1.1.0” "strong = "ka%386motph="0SHM/HVigp1cs”  x-

x-morph = ”OSHM:HRd/Ncmsa” cantillationLevel = 1" "strong = "c,/1961 | LI/
"strong = "d/7223|LILILIILCCLCIC/LL] x-morph ="0SHM:HC/Vqw3mp”
x-morph="0SHM:HTd/Aomsa”  x- “strong="8033|JJ /' lx-morph="0SHM:HD”
cantillationLevel =”1.1.1” "strong = "853}{catiillationLevel = "0.1” strong = "k/834| LI /A1
x-morph =”OSHM:HTo” x-cantillationLe#&l = ”1.1.0%-morph = "OSHM:HR/Tr”

"strong = 6235 | LI x- ”strong="6680| 1L/  x-

morph =”"0OSHM:HAcmsc” ”strong = "d/ 1667ph/="I0SHM: IV pp3ths/Splcs” x-

x-morph ="0SHM:HTd/Ncmpa” x- cantillationLevel="0.0" "strong="3068|[ [ I I 1 |]
cantillationLevel =”1.1” strong = ”834|[_klmdrph + "OSHM:HNp” x-cantillationLevel = "0"[ |

a” x-morph =”0OSHM:HTt” "strong = "1696 || | [stdohg *"c/1121 | LA

x-morph =”0OSHM:HVpp3ms” "strong = "8068| xttorph = ”0OSHM:HC/Nempc”

x-morph =”OSHM:HNp” "strong = "413|"$ttdng= 13478 | LT x-

x-morph ="OSHM:HR/Sp2mp” morph ="OSHM:HNp” x-cantillationLevel =”1.0.1”
”strong = "b/2022 |1/ x- ”strong ="5265| I 1L X-

morph =”"OSHM:HRd/Ncmsa” x- morph="0SHM:HVqp3cp” X-
cantillationLevel =”1.0.0” "strong = "m/843@llatiohilevel £ 1.0.0” ” + strong = "m/885| I L ILILILILII]/
x-morph = "OSHM:HR/Ncmsc” x-morph =”OSHM:HR/Np” ” + strong =885 | L[ _IL]_IL]
”strong ="d/784| 1 ILILILL/LI] x-  x-morph ="0SHM:HNp” | [ ILILLI] )| strong = 7885”
morph ="0OSHM:HTd/Ncbsa” x- x-morph="0OSHM:HNp” x-cantillationLevel = "1.0”
cantillationLevel = 1.0 ”strong = "b/313png=14y40| | LI L] a” x-

x-morph =”"OSHM:HR/Ncmsc” morph =”OSHM:HNp” x-cantillationLevel = 1"
"strong = "d,/6951 |[ILILILILILIL /L] "strong = "8033|[J_LILIL] x-morph ="0OSHM:HD”

x-morph ="0SHM:HTd/Ncmsa”  x- “strong="4191|l| | []x-morph="0SHM:HVqp3ms”
cantillationLevel =”1” "strong = "c/5414|strong = 1175| I X-




CONTENTS 79

morph ="OSHM:HNp” x-cantillationLevedmbddph6*”OSHM:HTo”[ | ILIL[L[L] Il|strong="727"
"strong = "c/6912 |1/ x-morph ="0SHM:HNcbsc” ”strong = 71285 |[[LILILILILIL]
x-morph ="OSHM:HC/VNw3ms” x-morph ="0SHM:HNcfsc”l [ [ Il ']]|strong ="3068"
”strong = "8033|[ | L[] x-morph = ”OSHMudfph = ”OSHM:HNp” x-cantillationLevel = 1"
x-cantillationLevel = ”0.1” "strong = "c/33#fihg = "/BO75) T T /1] x-

x-morph ="0OSHM:HC/Vpw3ms” x- morph="0SHM:HR/Vqc” "strong="1/6440|LI_ILJ_ILl/]]
cantillationLevel = "0.0.0” "strong = ”49%mdrph ="OSHM:HR /Ncbpc”

x-morph =”OSHM:HNp” strong = 1121 |"strdrig="18068| | I I LI X-

a” x-morph ="0OSHM:HNcmsc/Sp3ms” morph ="0SHM:HNp” "strong = "1/8334 |LILIL]/LILILI L]0
x-cantillationLevel = ”0.0” "strong = ”8438thotph/="10SHM:IAR /Vpc/Sp3ms”

x-morph = "OSHM:HR/Sp3ms” x-cantillationLevel = 0.1.0” "strong = "c/1/1288 | LI /L0 /L))

x-cantillationLevel = 0" ] 7 x-morph ="0SHM:HC/R/Vpc”

”strong ="m/8033|ILILILILILI/LIL]  x- ”strong="b/8034| L1/

morph ="0OSHM:HR/D” "strong = 5265 K-fotphl=t "TOSHM:HR /Ncmsc/Sp3ms”

x-morph ="0OSHM:HVqp3cp” x- x-cantillationLevel ="0.1” "strong ="5704|[ [ ][]
cantillationLevel = ”1.0” "strong = "d/14x2Hd¢ph EPOSHMIFIR " 4-€antillationLevel = ”0.0”
x-morph ="0SHM:HTd/Np/Sd”  x- ”strong="d/3117| I/

cantillationLevel = ”1” strong = "c/4480 [kimd¢ph="OSHM:HTd/Ncmsa”

a” x-morph ="0SHM:HC/R”[ /L I Ir§tfonlgl 1d/ deastg = d/ 4l 2”

x-morph ="0OSHM:HTd/Np/Sd” x-morph ="0OSHM:HTd/Pdxms”

”strong ="3193|LILILILLLILLITL  x-  x-cantillationLevel = 0" o

morph ="OSHM:HNp” x-cantillationLevetroti@. 5921 ||| a” x-morph ="0SHM:HR”_ ||| I ][/|strong ="3651
"strong =776 | I L[] x-morph = ”OSHN:HNchegtph = "OSHM:HTm”  x-
x-cantillationLevel = ”0.0” strong = ”5158&}ntillatiénllelel = ”1.0.0.0” "strong = ”3808| I |||

a” x-morph="0SHM:HNcmpc” x-morph="0SHM:HTn”[ | [ IL[ [']'/|strong="1961"

110 We read one or more ac- x-morph="0SHM:HVqp3ms” ”strong="1/3878| [ [ [ []/I]
cents in L differently from BHQ. x-morph="OSHM:HR/Np” X-

" 12 rgrong="4325| ] LIL] cantillationLevel="1.0.0” strong="2506|L I LI ||
x-morph ="OSHM:HNcmpa” x- a” x-morph ="OSHM:HNcmsa”

cantillationLevel =”07[] & ”strong = "b/628®ihg + P¢/B159 |1/

x-morph ="OSHM:HRd/Ncbsa” x-morph ="OSHM:HC/Ncfsa” X-

”strong ="d/1931 | LI/ x- cantillationLevel =”1.0” strong = "5973| ] ]|

morph =”0OSHM:HTd,/Pp3fs” x- a”x-morph ="0SHM:HR”LJ/LIL I ILJLIL][J|strong="251"

cantillationLevel ="1.1.1” "strong = ”914d'mdrph ="OSHM:HNcmpc/Sp3ms”

x-morph =”0SHM:HVhp3ms” "strong = B6a&8illatiofnllevel = "1” "strong = 73068 || I 111
x-morph =”OSHM:HNp” x-cantillationLexeherph E0OSHM:HNp” x-cantillationLevel = 0.1.0”
”strong = "853 |[ | [ | x-morph = ”"OSHM:HEt’d0gl= 11031 [[| $ttonlg = 162pH = "OSHM:HPp3ms”
x-morph =”0OSHM:HNcmsc” "strong = "d/&86i8g(= 15169 | IAAT [T x-
x-morph="0OSHM:HTd/Ngmsa” x- morph="0SHM:HNcfsc/Sp3ms” x-

cantillationLevel =”1.1” "strong = ”1/53Z5tilldtioni&vel = 70.1” strong = "k /834 || ILILI I/
x-morph ="0OSHM:HR/Vqc” x- d” x-morph ="OSHM:HR/Tr”

cantillationLevel = "1.0” "strong = "853|"strong = 1696 || [ [ [ ][] x-

110C

11c We read one or more accents in L differently than BHS. Often this notation indicates a typo-

graphical error in BHS.
112 Marks an anomalous form.
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morph ="OSHM:HVpp3ms” x- x-morph="0OSHM:HR/Ncmsa” X-

cantillationLevel = "0.0.0” "strong = ”30@Aftilldtiohildvel = "1.0” "strong = "1/6440 || I LI/
x-morph = ”OSHM:HNp” "strong = ”430| xImvotph/="0SHM:HR /Ncbpc” strong = "d /5971 | LILILILI/L 1]
x-morph ="0OSHM:HNcmpc/Sp2ms”  a” x-morph ="OSHM:HTd/Ncmsa” x-

x-cantillationLevel = ”0.0” ”strong ="1|[ lchtillationLevel = ”1” "strong = c,/935 | LI/

x-morph ="0OSHM:HR/Sp3ms” x- x-morph="0SHM:HC/Vqj3mp”  x-
cantillationLevel = 0" ] 1° ”strong = "c/6&%fillationLlelél# 70.1.0” “strong = "c/3423| 1L/
x-morph = "OSHM:HC/Pp1lcs” x- x-morph="0SHM:HC/Vqj3mp” "strong = "853 |[ | ]|

cantillationLevel =1.2.1.0” ’strong = "5878¢rph = POSHMHTo” | IL L[] 1/[1L]L]|strong="d/776”
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cantillationLevel = "1.2.1” "strong = "k/3d¢tjtpH = TOSHNKHVNp1cs” “strong = "1/1 ||/
x-morph="0SHM:HRd/Ncmpa” x- x-morph="0SHM:HR/Ncmpc/Sp3mp”

cantillationLevel = "1.2.0” "strong = ”d/222a4itllationTlevdl ="0.0" strong = "1/5414| LI/
x-morph="0SHM:HTd/Aampa” x- x-morph="0SHM:HR/Vqc” "strong="1|LI [ [ ]/
cantillationLevel = ”1.2” ”strong = ”705|X-thoph ="OSHM:HR /Sp3mp” x-cantillationLevel = 0" |
x-morph =”0OSHM:HAcbpa” "strong = 3111 7|[strofig = "c,/6258 |1 LI/

x-morph ="OSHM:HNcmsa” x-cantillatioanhewghh=2TASHM:HC/D” x-cantillationLevel =”71.2.0”
"strong = "c,/705 | L0/ 7strong = 73478 LI COOOOONN x-

x-morph ="0OSHM:HC/Acbpa” x- morph="0SHM:HNp” x-cantillationLevel ="1.2”
cantillationLevel = ”1.0” ”strong = 7391 57strong = 14100| | L] | x-morph ="OSHM:HTi”

x-morph = "0SHM:HNcmsa” x-cantillationtamellfatibhLevel = "1.1.0” "strong = "3068| |11 ]]
"strong = "c¢,/8085 | ILILILILILIILICL/L x-morph ="0SHM:HNp” "strong = 430 || /LI LI L]
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”strong = "3068|[ | IL [ ]'] x-morph = "GStinti#HAp3nLevel = "1.1” "strong = "7592|[ [ I LI ]]
x-cantillationLevel = "0.1.1.0” "strong = 3di®ifph + POSHM:HVqrmsa” x-cantillationLevel = 1.0”
x-morph = "OSHM:HR/Sp1lcs” x- strong ="m/5973|LIL1/LIIIIC /)]

cantillationLevel = "0.1.1” "strong = ”1 5’| xtthorph = "OSHM:HR /R /Sp2fs” x-

x-morph =”OSHM:HTa” x-cantillationLevehtillatiofl.evel = ”1” strong = ”3588|[ I I/ ]

strong ="b/6471 |11/ x- b” x-morph ="0SHM:HC” strong =518 | ||
morph =”OSHM:HRd/Ncfsa” "strong = "8 ¥9gbjrphl = TOgHNM: HC” /L0 | strong = 1/3372”

x-morph ="OSHM:HTd/Pp3fs” x- x-morph="0SHM:HR/Vqc” x-cantillationLevel =”0.2.0.1”
cantillationLevel = "0.1” ”strong = ”38087strong = ”853|[ ] | x-morph = "OSHM:HTo” L[] ILI[J|stror
x-morph ="0SHM:HTn”[ L[] ILI[|L]|strongmdiph’="OSHM:HNp” ”strong = "430|[IL]/LILI LI
x-morph =”0OSHM:HVqp3ms” ”strong = 386a&ph + 'OSHM:HNcmpc/Sp2ms”

x-morph = ”OSHM:HNp” x-cantillationLexebmtillfiionLevel = ”0.2.0.0” "strong = ”1/321 2|11/
"strong ="7843|[ILl/LILILILICICICI]  x-morph ="0OSHM:HR/Vqc” "strong = "b/3605|[ [ [ /L 11]
x-morph ="0SHM:HVhc/Sp2ms”  x- x-morph="0SHM:HR/Ncmsc” [ /LTI ILILT|strong =718
cantillationLevel =”0”] '! ”strong = "c/858¢rph #"OSHM:HNcbpc/Sp3ms” x-

x-morph = ”OSHM:HC/Vqw3ms” "strongcariflla8prlievdl ="0.2.0” “strong = "c/1/157 | ILILILILICE A
x-morph = ”OSHM:HNp” x-cantillationLexeherph E0OSHM:HC/R/Vqc” “strong = "853 |[ I |/L L] 'I[]
"strong = "413|[l/L I I} x-morph = ”OSHMoH#RYSpRSHM:HTo,/Sp3ms” x-cantillationLevel = ”0.2”
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1155 Marks an anomalous form.
116 We read punctuation in L differently from BHS.
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143 Marks an anomalous form.
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144C

145¢ We read one or more accents in L differently than BHS. Often this notation indicates a typo-
graphical error in BHS.
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1481 Marks an anomalous form.
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x-morph = "OSHM:HR/Vpc” ’strong = "1&@7¢ng ="035|[ | | | I [ [ | x-morph ="0SHM:HVqi3ms”

x-morph =”0OSHM:HNcmsa” x-cantillationteunellfatib@Lewl = 1.2” ”strong = 71931 | LI

”strong ="b/8034|[I/LILILILILILI/LIx- x-morph =”0OSHM:HPp3ms” "strong = "d/1697 || [ ILIL1IL1L1/L]]
morph ="OSHM:HR/Ncmsc/Splcs” x-  x-morph ="OSHM:HTd/Ncmsa” x-cantillationLevel =”1.1”
cantillationLevel =”1.2.1” "strong = "853}rorg= 7834 | [ [ [ [ ][] ]a” x-morph = "OSHM:HTt”

x-morph ="0SHM:HTo” strong = ”834|[ I'sttong =3808|[ ] | | x-morph = "OSHM:HTn L ILl/L I I ICI | strong = 1¢
a” x-morph ="0OSHM:HTr” "strong = “38@8fidrpl = "OSHM:HVpp3ms/Sp3ms”

x-morph ="0SHM:HTn”[ [LI/LILILILI L[ X-kalstibagent@68D2 ”1.0” "strong = "3068 | LI I]

x-morph ="0OSHM:HVpplcs/Sp3ms” x- x-morph ="0OSHM:HNp” x-cantillationLevel ="1"

cantillationLevel = 1.2.0” ”strong = ”1/18@6¢ng="b2087|[1] I [ 1L /[ 11| x-morph = "OSHM:HR/Ncmsa”
x-morph = ”OSHM:HR/Vpc” x-cantillationkentiHatioflevel = ”0.1.0” "strong = "1696 | I |/L LI LI
strong ="c/834 | LIIILILIL/ a” x-morpmetAls HMONENEHVpp3ms/Sp3ms”

"strong ="1696 ||| I ]I x-morph 2st@sigv: eaypizang”| | LI [/ ]]x-morph="0SHM:HTd/Ncmsa”
x-cantillationLevel = ”1.1” ”strong = ”b/8684dtillatiénllevel = 0.1” ”strong = 73808 |LILIL I

x-morph = ”OSHM:HR/Ncmsc” x-cantillationimple= OSHM:HTn” strong = "1481 | J_ILILILILJ

"strong = "430|[LILILILILILI" ] x-morph = ¢OSHMrHNeiSHIM: HVqi2ms” x-cantillationLevel = ”0.0”

”strong = "312| LT x-morph = soskpvepdsnpa” | |1/ 1 ][] ]a” x-morph = "OSHM:HR/Sp3ms”
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x-cantillationLevel = 70" ] [] x-morph =”0OSHM:HVqrmsa” "strong = "1|[[L]L]/L ]
strong="3588|[ /L[] x-morph="0SHM:HR/Sp2ms” X-
1 9 x-morph =”0SHM:HC”[ | | lcadfillationfkenad g=203y72trong = ”1/3423| L ILl/LIICE/
orph="0SHM:HVhi3ms” x-morph="0OSHM:HR/Vqc/Sp3fs”

x-cantillationLevel = ”1.2.0.0” “strong = 3&a&illationllevel = "0 | 3
x-morph ="OSHM:HNp” "strong = "430|strong * 35501 a7 x-
x-morph =”0OSHM:HNcmpc/Sp2ms”  morph ="0SHM:HVhi2ms” "strong = "1|[ [/ ]
x-cantillationLevel =71.2.0” “strong = ”8%3}iorph = "OSHM:HR /Sp2ms” X-
X- morph »OSHM:HTo”l I LI/ datstitbatgonldy@dz 11.2.0” "strong = "d/1870 | LI/
a” x-morph ="0SHM:HTd/Ncmpa” x- x-morph="0OSHM:HTd/Ncbsa” X-

cantillationLevel = ”1.2” strong = "834|[ kddtillationLevel = "1.2” "strong = ¢,/8027 | LI
a” x-morph ="OSHM:HTr” x- x-morph="0OSHM:HC/Vpq2ms”  x-

cantillationLevel = "1.1.0” ’strong = ”30@@fitillationildvel = 71.1.0” "strong = "853 |[ I ||
x-morph =”0OSHM:HNp” "strong = ”430| ximvotph/="0SHM:HTo” [ I 1[I ]|strong ="1366”
x-morph =”"0SHM:HNcmpc/Sp2ms”  x-morph =”OSHM:HNcmsc” ”strong =776 ||/ 1L
x-cantillationLevel = "1.1” "strong = "54 bdhoriph =["’OSHM:HNcbsc/Sp2ms” x-
x-morph =”0OSHM:HVqrmsa” "strong = "thntiliationLevel = ”1.1” strong = "834 | [_ILI_ILILI]
x-morph ="0SHM:HR/Sp2ms” x- a” x-morph="0SHM:HTr” ”strong ="5157| L [LI/LIICIL I
cantillationLevel = ”1.0” "strong = "853 |x-thorph = "OSHM:HVhi3ms/Sp2ms”
x-morph ="0SHM:HTo”L /L I LI 1| stxcomg i &7B6T.evel = 71.0” “strong = 73068 | LI 1 1]
x-morph =”"0OSHM:HNcbsc/Sp3mp” x-  x-morph =”"OSHM:HNp” "strong = "430|[Il/L LI
cantillationLevel = "1” ”strong = "c/342 34 ot phl= TOSHM: HiNcfdpc/Sp2ms”
x-morph = ”0OSHM:HC/Vqq2ms/Sp3mp”x-cantillationLevel = ”1” "strong = "c/1961 | LILILILILIL1/L]]
x-cantillationLevel = ”0.1” "strong = "c/3427drph = 'OSHMIHG/Vgq3ms”  x-

x-morph ="0SHM:HC/Vqq2ms” cantillationLevel = 0.1” ”strong = "1/5127 | I ILILIL]/C)
strong ="b/5892|LILILI/LIIICII/LI]  x-morph="0SHM:HR/Vqc” "strong ="8033 [}/ ILILILILILI]
b” x-morph =”OSHM:HR /Ncfpc/Sp3mp’k-morph = "OSHM:HD/Sd” X-

x-cantillationLevel = ”0.0” strong = ”c/b &G04 |atibnIlével = 10l07strohg = ”3605 |11

b” x-morph = ”OSHM:HC/R/Ncmpc/Sp3mpiorph = "OSHM:HNcmsc”[ | IL] I[|strong = 7523
x-cantillationLevel =07 2 x-morph="0SHM:HVqrmsa” X-

"strong ="7969 |11 LI x- cantillationLevel ="0"[] 4 "strong="c/2088| I I I/ 1]
morph ="OSHM:HAcfsa” strong = ”5892{-tnbtphl="OSHM:HC/Pdxms” X-

b”  x-morph="0SHM:HNcfpa” x- cantillationLevel="1.1.0”"strong="1697 | II]JLI]
cantillationLevel = "1.0” ”strong = ”914|xtmarph/="0OSHM:HNemsc” ”strong = 7d /7523 | LI /A
x-morph =”OSHM:HVhi2ms” ”strong = "K'mofph/= "OSHM:HTd/Vqrmsa”  x-

x-morph ="OSHM:HR/Sp2fs” x- cantillationLevel ="1.1” strong ="834| | [ ']']
cantillationLevel =”1” "strong = "b/8432{" k-nidrpty="OSHM:HTr”L [ [ I [ ]|strong="5127"
x-morph = "OSHM:HR/Ncmsc” x-morph =”0SHM:HVqi3ms” "strong = "8033|[l/L L1111
"strong = "776|[]L1/LILICICICI] x- x-morph="0SHM:HD/Sd” X-

morph =”"0OSHM:HNcbsc/Sp2ms” x- cantillationLevel ="1.0” "strong = "c/2425|[ I [LI]/[ ]
cantillationLevel = "0.2” strong = "834 || kimdrph = "OSHM:HC/Vqq3ms”  x-

a”  x-morph="OSHM:HTr”  x- cantillationLevel="1"strong="834| [ LI
cantillationLevel =”0.1.0” "strong = "3068|xmdrpH += "OSHM:HTr” "strong = "5221 | [ [ [ [ 1]
x-morph =”OSHM:HNp” "strong = ”430| x!motph/="0SHM:HVhi3ms” ”strong = "853 |||
x-morph = ”OSHM:HNcmpc/Sp2ms”  x-morph="0SHM:HTo”l [ [ [I/L I I'|strong ="7453”
x-cantillationLevel =”0.1” "strong = ”54 bdhorph ="OSHM:HNcmsc/Sp3ms”
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x-cantillationLevel = 70.1.0” "strong = "bgaf@NiitionL.ével =170.0.1” “strong = 75127 | LI

x-morph =”0OSHM:HR/Ncmsc”l [ [ I xlstoopl = "08##1:HVqi3ms” X-

x-morph =”OSHM:HNcfsa” x- cantillationLevel ="0.0.0” strong =413 |||

cantillationLevel = "0.1” ”strong = "c/19%hdrph =OSHM:HR”L [ [ [ 1"/ ]|strong = "259”

x-morph = "OSHM:HC/Pp3ms” x- x-morph ="0SHM:HAcfsa” strong = "d/5892|[ [ [ [ [ ']/
cantillationLevel = "0.0.0” "strong = 3808 |kimdrph = "OSHM:HTd/Ncfpa” ILILILILILILI/LI]]|strong="d/428”
x-morph ="0OSHM:HTn”L L LILILILILIL]|stranperp®-300SHM:HTd/Pdxcp”  x-

x-morph = ”OSHM:HVqrmsa” "strong = "thnitilldtionLevel = ”0.0” "strong = "c/2425 | [ /]|

x-morph ="OSHM:HR/Sp3ms” x- x-morph="0SHM:HC/Vqq3ms”

cantillationLevel =”0.0” "strong = ”"m/85484ntillatidnLedél= 0" | 6

x-morph =”"0OSHM:HR/D” "strong = "8033frofg= 164B5|[ | | | | x-morph ="0SHM:HC”[ [ [ [ [ 111" 1]|strong ="72
x-morph = "OSHM:HNcmsa” x- x-morph="0SHM:HVqi3ms” strong ="1350]|_|LILILILJLIL]

cantillationLevel = 0" | ® strong ="c/83¢&| | | | klmiorph~="OSHM:HVqrmsc”

a” x-morph ="0OSHM:HC/Tr” strong="d/1818|LILILILILI/ 1] X-

"strong ="935|[ [ [ [ ]']'] x-morph = "OSHidM#iN ¢i 3@8HM:HTd/Ncmsa” X-

”strong = "854 |[ | | | x-morph = ”OSHM:HR#tillatiohi.evel={$trdnk. 654688 = "310| L]
x-morph =”OSHM:HNcmsc/Sp3ms”  a” x-morph ="0SHM:HR” "strong = "d /7523 | _ILILILILI L1/
strong ="b/3293|[LILIILILIJ/] a” x-morph="0SHM:HTd/Vqrmsa” x-
x-morph="0SHM:HRd/Ncmsa”  x- cantillationLevel ="1.1.1” strong = "3588|[ I IL]]
cantillationLevel = 1.3.0” "strong = ”1/2404{morph = JOSHM:HC”[ [ [ [ ]|strong ="3179”

x-morph =”"0SHM:HR/Vqc” "strong = ”6086¢irph =" OSHM:HVqi3ms” X-

x-morph = "OSHM:HNcmpa” x- cantillationLevel ="1.1.0” "strong = "3824|ILILJ/LILILIILJ
cantillationLevel = ”1.3” "strong = "c/50&afdrph =" OSHM:HNcmsc/Sp3ms”

x-morph ="OSHM:HC/VNq3fs” x-cantillationLevel ="1.1” ”strong = "c,/5381 | LI/ IO 0]
”strong = 3027 | 1L1/L1 1] x- x-morph="0SHM:HC/Vhq3ms/Sp3ms”

morph =”0OSHM:HNcbsc/Sp3ms” x-cantillationLevel ="1.0.0” strong = 3588 I I I I[]

”strong ="b/1631| LI/ a”x-morph="0SHM:HC”[ [ [ [T ILILILI]|strong = 7235
x-morph="0SHM:HRd/Ncmsa” x- a” x-morph ="0OSHM:HVqi3ms”

cantillationLevel =”1.2.0” ’strong = ”1/37&2png = 1870|100

x-morph = ”OSHM:HR/Vqc” "strong = ”dx&f86ph/= "OSHM:HTd/Ncbsa” X-

x-morph ="0SHM:HTd/Ncmsa”  x- cantillationLevel =”1.0” "strong = "c¢,/5221 |LILl/L LA
cantillationLevel = ”1.2” ”strong = ”c/53%4fidrph =" OSHM:HC/Vhq3ms/Sp3ms”

x-morph = "0OSHM:HC/Vqq3ms” ”strong = "5315| LI X-

"strong = "d/1270 |1/ morph ="OSHM:HNCcbsa” x-cantillationLevel = 71"

x-morph ="0SHM:HTd/Ncmsa”  x- “strong="c/1|[ 1Ll ]/[1/[]]x-morph="0SHM:HC/R/Sp3ms”
cantillationLevel = "1.1.0” strong = ”448@]|cartillationLevel = ”0.1.0” "strong = "369 || [ I I ]|

a” x-morph ="0SHM:HR”[ [ [ ILl/[ I ]| stremgepht#6@RHAM:HTn” "strong = "4941 | LI ICICIC]
x-morph="0SHM:HTd/Ncmsa”  x- x-morph="0SHM:HNcmsc”l [ | [l [ |l]|strong="4194"
cantillationLevel ="1.1” strong = "c¢/46X2hdrph =P QSHM:HNcmsa” X-

x-morph ="0SHM:HC/Vqq3ms” cantillationLevel = "0.1” strong = "3588 ||| I I 1]

”strong = "853 |[ | ] x-morph = ”"OSHM:Hil'0” | [x,mbtph/="RsaNgHC7453”x-

x-morph ="0SHM:HNcmsc/Sp3ms”  cantillationLevel =0.0.0.0” "strong ="3808|[ [ ] ']
x-cantillationLevel = "1.0” "strong = "c/44-9drpH # JOSHM:HTn” strong = ”8130|[ I 1111
x-morph ="0SHM:HC/Vqq3ms”  x- x-morph="0SHM:HVqrmsa” ”strong="1931 |[[J.ILI]
cantillationLevel = "1” "strong = 1931 | X-tofph = "OSHM:HPp3ms” X-

x-morph ="OSHM:HPp3ms” x- cantillationLevel ="0.0.0” "strong = "1|[I/{I[]
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x-morph ="OSHM:HR/Sp3ms” x- x-morph="0OSHM:HVpp3ms”

cantillationLevel = 70.0” strong = "m/8543illdtionl.ével/=1"0.0” "strong = ”1/ 5414|LIC/LC]
x-morph =”0OSHM:HR/D” "strong = ”8032notphl="0SHM:HR /Vqc” ”strong = "1/1 | ILI/L LI/
x-morph ="0OSHM:HNcmsa” x- x-morph="0SHM: HR/Ncmpc/Sp2rns

cantillationLevel = 0" 7 strong = ”592%}cadtillationLevel = 0"

a” x-morph ="0SHM:HR”_ILILILILIl|stromsgrerige51B588 | ILILIL] a” X-

¢”  x-morph="0SHM:HTm”  x- morph="0SHM:HC” [ ILILILILILIJ"I[J|strong="8104"
cantillationLevel = "1.0.0” "strong = ”595{\mdrph £"OSHM:HVqi2ms” "strong = 7853 || ||

x-morph = "OSHM:HPp1cs” "strong = "668forphl# TOSHM:HTo”l | | I |strong = 3605

x-morph = "OSHM:HVprmsc/Sp2ms”  x-morph ="OSHM:HNemsc” LU AL |strong = "d /4«
x-cantillationLevel = "1.0” "strong = ”1/5%9Hiorph # YOSHM:HTd/Ncfsa”

x-morph = "OSHM:HR/Vqc” x- "strong="d/2063| LI/ x-

cantillationLevel = "1” "strong = ”7969| | tnotphl="10SHM:HTd/Pdxfs” X-

x-morph = ”OSHM:HAcfsa” strong = "5892jhtilldtiohi.evel = "1.1.1.0” strong = "1/6213|[ I |/ LI
b” x-morph="0OSHM:HNcfpa” x- a” x-morph="0OSHM:HR/Vqc/Sp3fs”

cantillationLevel = 70.0” "strong = "914|[X-dahfilldtionL.ével = ”1.1.1” strong = 7834 | [ [ ][]
x-morph =”OSHM:HVhi2ms” ”strong = " x-fidrph = ”OSHM:HTr” "strong = "595 | [LILILILILILIC]
x-morph ="OSHM:HR/Sp2fs” x- x-morph="0SHM:HPplcs” ”strong ="6680| LI/ [T
cantillationLevel="0"] [ 8  x-morph ="0SHM:HVprmsc/Sp2ms”

strong="c/518| I l/Ll] a” x- x-cantillationLevel="1.1.0" "strong="d/3117|LILILILIIC1/L]]
morph ="0SHM:HC/C”LIL LTI ] |strongphZ 36BHM:HTd/Ncmsa”  x-

x-morph = ”0SHM:HVhi3ms” x- cantillationLevel ="1.1” "strong ="1/157 | JLILJ_LILCIL] /L]
cantillationLevel =1.1.0.0” "strong = "3068¢rph + "OSHM:HR /Vqc” X-

x-morph =”OSHM:HNp” ’strong = "430 | cantilldtionl.dvel="1.0.0.0” "strong = 7853 |[ ] ||

x-morph =”0OSHM:HNcmpc/Sp2ms”  x-morph ="OSHM:HTo”[ I [l [ I']"I]|strong = 3068
x-cantillationLevel = "1.1.0” "strong = ”8%3fidrph = "OSHM:HNp” "strong = ”430| I l/L LTI
x-morph ="0SHM:HTo”[ [ I/l I X-trpstpbrg 20 SES@HN cmpe,/Sp2ms”

x-morph =”0OSHM:HNcmsc/Sp2ms”  x-cantillationLevel =”1.0.0” strong = "c/1/3212|ILILJLILILI /L
x-cantillationLevel =”1.1” strong = "k/834#horph ="O$HM:HC/R/Vqc”

da’ x-morph="0SHM:HR/Tr” ”strong="b/1870|[ /LI ILICIIIC]A0C)]
"strong ="7650| [ [ I ILLILIIL]  x-  x-morph ="0OSHM:HR/Ncbpc/Sp3ms”
morph =”"0OSHM:HVNp3ms” x- x-cantillationLevel ="1.0” ”strong = "3605|[ | | ]

cantillationLevel = "1.0” "strong = ”1/1 | XJfidrph EPOSHM:HNemsce” UL/ strong ="d /311
x-morph ="0OSHM:HR/Ncmpc/Sp2ms” x-morph="0OSHM:HTd/Ncmpa”  x-

x-cantillationLevel =”1” ”strong = "c/54 tdfitillatibnilével = ”1” “strong = "c/3254 | I ILICICCCE /00
x-morph ="0OSHM:HC/Vqq3ms” x-morph ="0SHM:HC/Vqq2ms”

"strong ="1|LILILl/[ ] ] x-morph ="OSHM: 4R /S¢2mstead one or more ac-

x-cantillationLevel ="0.1.0” "strong ="86&jtd | |in L  differently =~ from

x-morph ="0SHM:HTo”L [ || ] ]|strong Bt005” 15  ”strong="1|III/LI]

x-morph =”0SHM:HNcmsc”[ [ [}/l Ix!msnpng 208 AMAIR /Sp2ms”
x-morph="0SHM:HTd/Ncbsa”  x- strong="5750|J ] ' |x-morph="0SHM:HD”
cantillationLevel =”0.1” strong = ”834|[ klcantillationLevel =0.1.0” strong ="7969|[ [ [ [ [ I 1]

a” x-morph =”"OSHM:HTt” "strong = ”1696afidrph =P OSHM:HAcfsa” strong = "5892|[ | [ L1 ][]

149C

150¢ We read one or more accents in L differently than BHS. Often this notation indicates a typo-
graphical error in BHS.
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b”  x-morph="0SHM:HNcfpa” x- “strong="5315| L[] [/x-morph="0SHM:HNcbsa”
cantillationLevel = "0.1” strong = ”5921 | xldanhtillationLevel = ”1.0” "strong = "c/4191 | [LILIL1/L]']

a” x-morph ="OSHM:HR” x- x-morph="0SHM:HC/Vqq3ms”  x-
cantillationLevel = "0.0” "strong = "d/7968ntillationlevel 5471” ”strong = "c/5127 |11/
x-morph ="OSHM:HTd/Acfsa” x-morph ="0SHM:HC/Vqq3ms”  x-

"strong = "d/428|LILILILIILIL/J] x- cantillationLevel="0.1” "strong = "413|[]LIL]

morph =”0OSHM:HTd/Pdxcp” x- x-morph ="0SHM:HR”[ || ILILI[/[J|strong ="259”

cantillationLevel = 0" ] '° ”strong = "c/88081ph ="@SHM:HAcfsa” x-cantillationLevel = "0.0”

x-morph ="0SHM:HC/Tn” "strong = ”82d®¢rig/="dy3802 [T/ 11b” x-

x-morph = ”OSHM:HVNi3ms” x- morph="0SHM:HTd/Ncfpa” "strong ="d/411|ILILIL1/L]]
cantillationLevel =”1.3.0” “strong = ”18 ¥8horph =”OSHM:HTd/Pdxcp”  x-

x-morph = ”OSHM:HNcmsa” strong = ”53&tilldtionL.evel = 70”[] * ”strong="c,/7971 | I /L0
a” x-morph="0SHM:HAamsa” x- x-morph="0OSHM:HC/Vqq3cp” x-cantillationLevel="1.1.0"
cantillationLevel =”1.3” ”strong = ”b/7136ong =2205|[ [ [ [ ][]l x-morph ="OSHM:HAampc”
x-morph = OSHM:HR/Ncmsc” ”strong =st7&ieg|= 15892 [/ I | ][] b” x-morph = ”OSHM:HNcfsc/Sp3ms”
x-morph =”"0OSHM:HNcbsc/Sp2ms” x- x-cantillationLevel ="1.1” "strong = "c,/3947 |11 LI/
cantillationLevel = ”1.2” strong = "834 |[_kInmdirph = "OSHM:HC/Vqq3cp” "strong = "853 || /LI ]

a” x-morph ="OSHM:HTr” x-cantillationkewelrpli £ TMSHM:HTo/Sp3ms” x-cantillationLevel =71.0”
”strong = "3068|[ | I [']"] x-morph = "OstiadgENpth,/8033| I/ x-

”strong ="430|Ll/LLLCLEEL]  x-  morph="0SHM:HR/D” x-cantillationLevel ="1”

morph =”"0SHM:HNcmpc/Sp2ms” x- “strong="c/5414 |1/ x-

cantillationLevel = "1.1” "strong = "5414fhéiph ="’OSHM:HC/Vqq3cp” “strong = "853 |1/

x-morph =”0OSHM:HVqrmsa” "strong = "K/mdrph/= "OSHM:HTo,/Sp3ms” x-cantillationLevel = 0.0.1”
x-morph ="0OSHM:HR/Sp2ms” x- "strong="b/3027 | IILl/[] ]| x-morph ="OSHM:HR/Ncbsc”
cantillationLevel = "1.0” ”strong = ”5159-¢dnfillationLevel = 70.0.0” strong = 1350 | LI LI/ I]

x-morph =”OSHM:HNcfsa” x-cantillationlexehorpl’=""OSHM:HVqrmsc” "strong = "d,/1818|[ILILILIL1/L]]
"strong ="c/1961| L ILILILILI/AJ]  x- x-morph="0SHM:HTd/Ncmsa” x-cantillationLevel ="0.0”
morph ="0SHM:HC/Vqq3ms” strong = "538drg/=/Ic)/4191|[1I |1}/ Il x-morph = "OSHM:HC/Vqq3ms”

a” x-morph="0SHM:HR/Sp2ms” x- x-cantillationLevel="0"[]'® ”strong="3808|[ /||
cantillationLevel =”0.0” strong = ”1818%-mbtph 2" IOSHM:HTn”[ LI ] ]']|strong = 72347~

x-morph ="0OSHM:HNcmpa” x- x-morph ="0SHM:HVqi3fs” strong="5869|[ I I /LI [ ]
cantillationLevel =0 /[ ] ' strong ="cA3588\01ph/=/0SHM:HNcbsc/Sp2ms”

a” x-morph ="0SHM:HC/C”[I_ LI xd¢stmeitigtidAR6d] = "1.0” strong = "5921 |I/LILIILICIL]

x-morph = ”OSHM:HVqi3ms” "strong = "87&{mdrpH = "OSHM:HR /Sp3ms” x-cantillationLevel ="1”
x-morph =”OSHM:HNcmsa” x-cantillatiatfevg="¢y 2107 |00
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x-morph ="OSHM:HTd/Ncfsa” x- x-morph ="0SHM:HTn”[ [ [ Il I[L[]|strong ="5647”
cantillationLevel = "1.1” "strong = "d/7188110rph # TOSHMIHVNi3ms” ”strong = b | [/ I ]]
x-morph ="OSHM:HTd/Aafsa” x- x-morph="0SHM:HR/Sp3ms” X-

cantillationLevel = "1.0” "strong = "413|IcantfillationLevel = "1.0” "strong = c,/3808| LI IL]]/L 1]
x-morph =”0OSHM:HR”LILILILILILl/LILIL | strangephid? 2@8HM:HC/Tn” "strong = 72232 | UL
a” x-morph="0SHM:HTd/Aamsa” x- x-morph="0OSHM:HVNi3ms” X-

cantillationLevel = "1” "strong = "c/3947dantilldtiohi.evel 1" "strong = "c,/6202 |1 LI/
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x-morph =”0SHM:HC/Vqq3cp”l LI X}stromh="80SE"M: HAampc” X-
x-morph =”OSHM:HD” ”strong = "853 | kantillationLevel = "1.1.0” strong = ”d/5892|[ I ILIL]/L 1]
x-morph =”0SHM:HTo”l LI, uum stroxgrdigtb69DSHM:HTd/Ncfsa”
a” x-morph="0SHM:HTd/Ncfsa” x- “strong="d/1931|LILILILILI/ 1 X-

cantillationLevel = ”0.0” strong = ”b/5158|otph/="0SHAM:HTd/Pp3fs” X-

a”  x-morph="0SHM:HRd/Ncmsa” cantillationLevel ="1.1” "strong = "d/7138|ILILIILJCLICIC /L
x-cantillationLevel = 0" > x-morph="0OSHM:HTd/Aampa”  x-

”strong ="c/5066| LI/ cantillationLevel =71.0” ”strong = "413|[IL]]

x-morph ="OSHM:HC/VNq3cp” x-morph =”0OSHM:HR”[ [ L[ ]/L1]]|strong ="d /2491

"strong ="d/3548| LI/ a” x-morph ="0SHM:HTd/Aamsa” x-
x-morph="0SHM:HTd/Ncmpa” x- cantillationLevel="1""strong="7364 | [ [I 1]

cantillationLevel = "1.2.0” strong = ”112k}mdrph * "OSHM:HVqi3mp” X-
a” x-morph =”"0OSHM:HNcmpc” cantillationLevel =”0.1.0” ”strong = "853 |[ | |
”strong = "3878|[ | I [ ] x-morph = OS#bHNipz ”"OSHM:HTo”[ [ I I 1/ I LI ]|strong ="3027”

x-cantillationLevel = "1.2” strong = “358&|nidrpH = ”OSHM:HNcbdc/Sp3mp”

a” x-morph =”OSHM:HC” "strong = "b|[ l¥-dahtillationLevel = "0.1” strong = 75921 |[ | ]

x-morph ="0SHM:HR/Sp3mp” x- a” x-morph="0SHM:HR”_IL[IILILILIL]/ 1L ]|strong ="d/5697
cantillationLevel = "1.1.1” "strong = "97 A" | x-ltiph/="OSHM:HTd/Ncfsa” x-

x-morph ="0SHM:HVqp3ms” x- cantillationLevel ="0.0” "strong = "d,/6202|[ I LIL LI ICIC]/C00)
cantillationLevel = "1.1.0.0” "strong = "3068¢rph * "OSHM:HTd/Vgsfsa”

x-morph =”OSHM:HNp” "strong = "430|strong + b /B 581 I [ 111/

x-morph ="0SHM:HNcmpc/Sp2ms” a”  x-morph="0OSHM:HRd/Ncmsa”

x-cantillationLevel ="1.1.0” ”strong = 1 A8884tillatiohL.eviel = 07 || 7

x-morph =”"0SHM:HR/Vpc/Sp3ms”  strong="c/6030|[LILILILILI/LL1 b~

x-cantillationLevel =71.1” ”strong = "¢/l x12®8ph = TOSHMAHG/Nidq3cp”  x-

x-morph ="0OSHM:HC/R/Vpc” x- cantillationLevel ="1.0” "strong = "c/559|[ L ILILILICICL/L]]
cantillationLevel =”1.0” "strong = ”b/8084110rph £ JOSHM:HC/Vqq3cp”  x-

x-morph = "OSHM:HR/Ncmsc” cantillationLevel = "1” "strong = 73027 | _ILIL] /LI
”strong = "3068|[ I LI x- x-morph="0OSHM:HNcbdc/Splcp” x-

morph =”0OSHM:HNp” x-cantillationLevebatillationLevel = ”0.1.1” "strong = 73808 | /|||
strong="c/5921|LIL[J/]] a” x- x-morph="0OSHM:HTn” ”strong="8210|[ /] ]]

morph ="0SHM:HC/R”[ | LI/l ]| stromg pH 63 OBHM: HV qp3fs” X-

x-morph ="0SHM:HNcmsc/Sp3mp”  wType = "x-ketiv” 1>* ”strong="853|[ L]

"strong ="1961 | I x- x-morph="0SHM:HTo”l [ I IILl/ I[llJ|strong="d/1818”
morph ="0SHM:HVqi3ms” x- x-morph="0OSHM:HTd/Ncmsa”

cantillationLevel =”0.0” strong = ”3605strong = ”d/2088|LILILILILI/ 1T X-

x-morph =”"0SHM:HNcmsc” [ [ [ ]|strongph 7 3@9HM:HTd/Pdxms” X-

x-morph =”OSHM:HNcbsa” "strong = "c(36@f]atiénevel = 0.1” strong = "c/5869 |LILILI/L LI 1L/
x-morph =”0SHM:HC/Ncmsc”L L[] [ Ja"stromg ph’5008HM:HC/Ncbdc/Splcp”

x-morph =”0OSHM:HNcmsa” x- x-cantillationLevel ="0.0” "strong = "3808|[ | I ||
cantillationLevel = 0" ] © ”strong = "c/36@&rpH = HOSHM:HTn” "strong = 7200 | [ I IL1[/]
x-morph ="0OSHM:HC/Ncmsc” x- x-morph="0SHM:HVqp3cp” X-

cantillationLevel = "1.1.1” ”strong = ”22@aftillatiohLevel = 70”L]  strong ="3722| [ LI

154 4 strong ="8210|[ILILILILCCCOCNNN x-morph ="0OSHM:HVqp3cp” X-
cantillationLevel =”0.1.0”
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a” x-morph="0SHM:HVpv2ms” x-morph="0SHM:HTd/Aamsa”  x-

strong ="1/5971|ILILl/LILILILIL/L) a”  cantillationLevel =”0.0” strong = "b/5869| I 1L LI/
x-morph ="0OSHM:HR/Ncmsc/Sp2ms” a” x-morph ="OSHM:HR/Ncbdc”

155 We read one or more accents strong="3068| [ 1] X-

in L differently from BHQ. 156 morph ="0SHM:HNp” x-cantillationLevel = 0"
"strong = "3478|JLILLILILOL]  x- [ 19 strong="3588|L LI a” x-

morph ="0SHM:HNp” strong = 834 ||| motph = ”0SHM:HC”[ | I [ ]'/|strong="3318"

a” x-morph ="0SHM:HTr”_ LI ILILI kimistping 20880 Vqi2ms” “strong = "1/4421 | LI DO A
x-morph ="OSHM:HVqp2ms” x- x-morph="0SHM:HRd/Ncfsa” X-

cantillationLevel =”1.2.0” "strong = "30&Afitillatibhilével = 1.0” strong = 75921 |[ [ ]

x-morph =”OSHM:HNp” x-cantillationLevek=ntarfh = ”OSHM:HR”[ [ /L [ I 1L strong = 341"

”strong = "c/408 |/ x- x-morph="0OSHM:HVqrmpc/Sp2ms”
morph ="0SHM:HC/Tn”[ ILILILILILIU LI | stroangtitiaBieid evel = 717 “strong = "c/5414| L1/ L] /L))
x-morph ="OSHM:HVqgj2ms” x- x-morph="0SHM:HC/Vqq3ms/Sp3ms”

cantillationLevel =”1.1.0” "strong = ”18 ¥8¢ahtilldtionLevel = "0.0.0.0” "strong = 3068 | I [ I I ||
x-morph =”0OSHM:HNcmsa” strong = ”536Ajotphl="10SHM:HNp” "strong = ”430| [ /L L]

a” x-morph="0SHM:HAamsa” x- x-morph="0OSHM:HNcmpc/Sp2ms”

cantillationLevel = ”1.1” strong = "b/7186fantillatibii.ével = 70.0.0” "strong = "b/3027 | I/ ILILIIL]/L0IC]
x-morph ="OSHM:HR/Ncmsc” x- x-morph="0SHM:HR/Ncbsc/Sp2ms”

cantillationLevel = "1.0” strong = ”5971 | xldantillationLevel = 70.0” "strong = "c,/7617 | I
a” x-morph =”"OSHM:HNcmsc/Sp2ms” x-morph ="0OSHM:HC/Vqq2ms”

"strong = "3478|JLILILLUULLL  x- strong="7628|ILJ/LILILILICC a”
morph ="OSHM:HNp” x-cantillationLevelmdtph = "OSHM:HNcbsc/Sp3ms”
strong ="c¢/3722|LILILILLCINN/LE x-cantillationLevel = 707 1

a”  x-morph="0SHM:HC/VDq3ms” ”strong="c,/7200| [ 11T/
”strong = "1|LILILIL/L] ] x-morph = "OSHM:HR($h3ni@SHM:HC/Vqq2ms”  x-
x-cantillationLevel = ”0.0” ”strong = ”d/ I@ih8{llatidnLeArél="1.1.0” ”strong = ”b,/7633 | LI/

x-morph ="0OSHM:HTd/Ncmsa” x-morph =”"OSHM:HRd/Ncbsa” X-
x-cantillationLevel = 0" | °  cantillationLevel =”1.1” ”strong = "802 | _[']]
strong ="¢/859|LILILILILILIAN]  a” x-morph="0SHM:HNcfsc” X-

x-morph ="0OSHM:HC/Pp2ms” x- cantillationLevel ="1.0” "strong = "3303 | L[] ]
cantillationLevel =”1.0.1” strong = "119%}mdrph # POSHM:HAafsc” | LI J|strong ="8389”

a” x-morph="0SHM:HVpi2ms” x- x-morph="OSHM:HNcmsa” X-
cantillationLevel = "1.0.0” ”strong = "d/ i@ib8illatidnLetél = 717 strong = "c/2836 | LI
x-morph ="OSHM:HTd/Ncmsa” a”  x-morph="0SHM:HC/Vqq2ms”

strong ="d/5355| I/ a”  7strong ="b|[ILl/LI]] x-morph =”"OSHM:HR/Sp3fs”
x-morph="0SHM:HTd/Aamsa”  x- x-cantillationLevel ="0.1” "strong="c/3947 |l [ I[IIICICICIC1/L1]
cantillationLevel =”1.0” "strong = ”"m/7 b8fotpH = TOSHM:HC/Vgq2ms”

x-morph =”0OSHM:HR/Ncmsc/Sp2ms”  “strong ="1|[IL[.]/[ ] x-morph ="0SHM:HR/Sp2ms”
x-cantillationLevel = "1 strong = 73588 | x\dahtillationLevel = "0.0” "strong = ”1/802| I LI/

a” x-morph ="OSHM:HC”[ I LIt stuempgh="%2I13M: HR /Ncfsa” X-

a” x-morph="0SHM:HVqi2ms” cantillationLevel = 0" 12

”strong ="d/3477|LLLCLL/LL 7strong =7¢/935|LL/L00H A
155C

156¢ We read one or more accents in L differently than BHS. Often this notation indicates a typo-
graphical error in BHS.
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x-morph =”0OSHM:HC/Vhq2ms/Sp3fs” x-morph ="0SHM:HC/Vqq3fs” "strong="1|I_[LI/L]]
x-cantillationLevel =”1.0” ”strong = ”413{/mdrph = "OSHM:HR /Sp2ms” X-

x-morph =”0OSHM:HR”[ [ L[ [[I']]|strongmtilB#BRiLevel = "0.0” ”strong = "1/802| I 1L/
x-morph =”OSHM:HNcmsc” strong = ”1064{otpH = FOSHM!HR /Ncfsa” x-cantillationLevel = "0 |
b” x-morph ="0OSHM:HNcmsc/Sp2ms” 4 ”strong="c/1961| LI/

x-cantillationLevel =”1” "strong = "c/1548hdrph ="OSHM:HC/Vqq3ms”  x-

x-morph = "0SHM:HC/Vpq3fs” x- cantillationLevel ="1.1.1.0” strong ="518|[ [ ]
cantillationLevel = "0.1.0” "strong = ”853| X-morph = ”OSHM:HC”[ | | I I /|strong = 3808
x-morph ="0SHM:HTo”l L)/ LI Ystrorgh="7$BM:HTn” strong = 72654 | I

a” x-morph ="0SHM:HNcmsc/Sp3fs” a” x-morph ="0SHM:HVqp2ms” ”strong="b|[ ||/ 11|
x-cantillationLevel = "0.1” strong = "c/624&]otphl="10SHM/HR /Sp3fs” x-cantillationLevel ="1.1.1”
a” x-morph="0SHM:HC/Vqq3fs” x- "strong="c,/7971|IIL]/LIICCCCCO00 /0
cantillationLevel = ”0.0” "strong = "853 |x-thorph = "OSHM:HC/Vpq2ms/Sp3fs”

x-morph =”0SHM:HTo”[ ||/ LI I X-kanlti] katimrgd evi@8561.1.0” ”strong = 1/5315| L1/
x-morph =”OSHM:HNcmpc/Sp3fs” x-morph =”OSHM:HR/Ncbsc/Sp3fs”

x-cantillationLevel = 0" | 3 x-cantillationLevel ="1.1” "strong = "c/4376| ] I I 1]/
"strong = "c¢,/5493 | LI/ x-morph ="0SHM:HC/Vqa” "strong = 3808 |||
x-morph = ”OSHM:HC/Vhq3fs” "strong =88 pH = "OSHM:HTn”[ I [LILI/LILILICCECC | strong = 7437

x-morph ="0SHM:HTo”[ [ [ I I fstnomgph 28009HIM:HVqi2ms/Sp3fs”

x-morph =”OSHM:HNcfsc” "strong = 77 a88#dtilationLevel= ”1.0” “strong = "b/3701 | LI/
x-morph ="0OSHM:HNcbsc/Sp3fs” x- x-morph="0OSHM:HRd/Ncmsa”  x-

cantillationLevel ="1.1.1.0” strong = "m«afiillatioAlleNdl =" Pstrong = ”3808|[IL]L

a” x-morph =”OSHM:HR/R/Sp3fs” x- x-morph="0SHM:HTn”[ LI IILI I ]|strong="6014
cantillationLevel = "1.1.1” "strong = ”c/3#2¥{motphl= TOSHM/HVti2ms” “strong = "b|[Il/L ][]
x-morph ="OSHM:HC/Vqq3fs” x- x-morph="0SHM:HR/Sp3fs” x-cantillationLevel = "0.1”
cantillationLevel = "1.1.0” strong = "b/106¢ g4 *8478]|[ /I ) x-morph =”OSHM:HR”

b” x-morph = ”OSHM:HR/Ncmsc/Sp2ms¥-cantillationLevel = "0.0” strong = "834 | LI [ L[ ]
x-cantillationLevel =”1.1” "strong = ”c/1858Jmbtphl= ""OSHN:HTr” strong = "6031 |[ILI/L LI
x-morph ="0OSHM:HC/Vqq3fs” x- b”x-morph="0SHM:HVpp2ms/Sp3fs”

cantillationLevel =”1.0.0” ”strong = "853}icantillationLevel = 70" | [] 15

x-morph ="0SHM:HTo”[ [/ LI ILIJ|strong="8388|[ I ] [ [ 1a” x-morph ="0SHM:HC”[ I I I IIILII
x-morph = "OSHM:HNcmsc/Sp3fs” x-morph =”0SHM:HVqi3fp” "strong = "1/376| L ILILILILI/AT]
"strong = "¢/853|ILILl/L ] x-morph = ”O8HhM:#E A 6OSHN:BR)/NemhsatnongrtilfdtionLevel = 71.2.1.0”
x-morph =”OSHM:HNcfsc/Sp3fs” x- “strong="8147| ILI[I I l]x-morph="0SHM:HAcfdc”
cantillationLevel =”1.0” ”strong = 73391 strong = 7802|[ | [ [ [ [ ]l x-morph = "OSHM:HNcfpa”
x-morph = ”OSHM:HNcmsc” ”strong = "34-tZfitillationllevel = 71.2.1” ”strong = "d /259 LI/
x-morph =”OSHM:HNcmpa” x-cantillatiomibergh="10SHM:HTd/Acfsa” ”strong =157 | L[ [ II 1 IC]
strong="c/310|LILILILILILI/T] a” x- x-morph="0SHM:HVqsfsa” x-cantillationLevel ="1.2.0”
morph ="0SHM:HC/R” strong = "3651 |["lstrorg = "c/d /259 LI/ /)]

¢” x-morph = ”OSHM:HTm” x-cantillationteaiph 20" D8HNV:HC/Td/Acfsa” strong = "8130| [/ LI
”strong = "935|[ [ ILILILII']'] x-morph = " @SHMpH V-{i@SIdM: HVgsfsa” x-cantillationLevel = "1.2”
"strong ="413|[ LI/ x- ”strong = "c,/3205| I LA x-

morph ="0OSHM:HR/Sp3fs” x-cantillationienph = "QSHN:HC/Vqq3cp”l [ /LI I]|strong ="1”

"strong = "c/1166|[ /L LI /[#-morph = ”OSHM:HR/Sp3ms” strong = ”1121 | LILILILILICI]
x-morph ="0SHM:HC/Vqq2ms/Sp3fs” a” x-morph="0OSHM:HNcmpa” x-

x-cantillationLevel = 70.1” "strong = "c/1&@#it{ationLevel # "111” ”strong = "d /157 | LI IEIEIE] /0]
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x-morph = ”OSHM:HTd/Vqsfsa” x-cantil letioatptvel 20SHN:HR /Vqc” ”strong = 1| LILILI/L|

"strong = "c¢/d/8130|ILILILILILILEIL /[ sidrph = "OSHM:HR /Sp3ms” x-cantillationLevel = 1.1.0”
x-morph =”0OSHM:HC/Td/Vqsfsa” x- “strong="6310| || [ []x-morph="0SHM:HNcmsc”
cantillationLevel =”1” ’strong = "c¢/196T'lstrong="18147 | [ I ] ] 1L} x-morph = ”’OSHM:HAcmda”
x-morph="0SHM:HC/Vqq3ms” x- x-cantillationLevel="1.1""strong="b/3605|[ [ [ [ /1]
cantillationLevel = "0.0.0” strong = ”d/1 kK2jofiph E”@SHM:HR /Ncmsa” strong = "834|[JLILILILI]

a” x-morph ="0SHM:HTd/Ncmsa” ”strong *hdgil6s [?OSHNUIHT /L L | strong = 746727
x-morph = "OSHM:HTd/Ncmsa” x-cantilbetivoripdiel 203H0: HVNi3ms” x-cantillationLevel = ”1.0”
”strong = "1/8146| |1 7strong = 71| UL/ ] x-morph = 7"OSHM:HR/Sp3ms”

x-morph =”0OSHM:HRd/Aafsa” x-cantillaticmigiletiofidével = 1” strong = "3588| ] ] ]

16 7strong ="c/1961 | L[ IL]/L1] x- a”x-morph="0SHM:HC”[ [ [ [ I ]']|strong="1931"

morph ="0OSHM:HC/Vqq3ms” x-cantillationbepkl="QSHM:HPp3ms” x-cantillationLevel =”0.1.0”
”strong = "b/3117|LILILILILL/LIL] x-morphistrongENZERS Ndrhsc? | [ 1] x-morph = "OSHM:HNcfsc”
x-cantillationLevel =71.1.0” "strong = ”51G7¢ng 7 1202| I/ || x-morph = ”OSHM:HNcmsc/Sp3ms”
x-morph =”0OSHM:HVhc/Sp3ms” "strong=ci8fblatidnLevel = 0.1” "strong = 1|11/ ]

x-morph ="0SHM:HTo”[ /[ [ I I I ]|stzrangph2 T@SHM:HR /Sp3ms” x-cantillationLevel = ”0.0”

a” x-morph ="0SHM:HNcmpc/Sp3ms” ”strong = "4941 | I LU x-morph = ”OSHM:HNcmsc”
x-cantillationLevel =”1.1” "strong = 853 ttdngl="d/1062 | I/

x-morph = ”OSHM:HTo” strong = "834|[_klmdrph = "OSHM:HTd/Ncbsa” x-cantillationLevel = 70" |

a” x-morph ="0OSHM:HTr”_ L[ I 1]strofig sttangE3588| LI 1] a” x-

x-morph =”0OSHM:HVqi3ms” x-cantillatiowighet:=208IAN:HCL L1 ]]|strong="1961"

"strong = "1|LIL}/[]L] x-morph = "OSHM:HRSpfhs2 "OSHM:HVqi3ms” strong = "1/376| LI/
x-cantillationLevel = ”1” ”strong = ”3808¥-fnlofph = "OSHM:HR /Ncmsa” x-cantillationLevel =71.2.1”
x-morph = "OSHM:HTn” "strong = "3201¢trohg £ 1121| [ [ []a” x-morph ="0OSHM:HNcmsa”
x-morph = ”OSHM:HVqi3ms” x-cantillatiowhevdlatithLelel = 71.2.0” "strong = "5637 |11
"strong ="1/1069| LI IILILI/L1]  x- x-morph="0SHM:HVqrmsa” "strong = "c/4784|[ [ 111 ILIL1/L]]
morph =”"0OSHM:HR/Vpc” x-cantillationkenedrphiG=POSHM:HC/Vqrmsa” x-cantillationLevel =71.2”
"strong = "853 |/l x-morph = "OSHM:HEtdng/= "B@tong =711 21 | | | x-morph ="0SHM:HTn/Sp3ms”
a” x-morph =”OSHM:HNcmsc”l I [ [ [ §trorgl= 180aBdng =I"d /157 x-morph = "OSHM:HVqrmsa”
x-morph = ”OSHM:HTd/Vqsfsa” x-cantillettantithatlonl@¢] = 71.1” strong = "b/6963 | 1 1/ 1 1]
strong ="5921|[ I ] ] a” x-morph = "OSHMHRiidrpH + P OSHMrHRg Némdd0 strong =1 |[ /L LI
x-morph =”0OSHM:HNcbpc” strong = ”112-hjlofpH = ”OSHM:HNcmsc/Sp3ms” x-

a” x-morph ="0SHM:HNcmsc”l [ cantillavion efseten’gl=0"dst8ang= ”c/b,/6963 |11/
x-morph = ”OSHM:HTd/Vqsfsa” x-cantillatiomhereh="WGHM:HC/R/Ncmsc” "strong =517 || l/L LI ]
"strong ="d/1060 | I/ x- x-morph="0SHM:HNcfsc/Sp3ms” x-cantillationLevel ="1”
morph =”"OSHM:HTd/Ncmsa” x-cantillatismbaget 2/®256 | [ [ L[ I]'l/[]]x-morph="0SHM:HC/Vpq3cp”
17 strong ="3588|[ | [ [ ] ]a” x-morph = "&SMM#d@’blace where we agree with BHQ

”strong = "853 |[ || | x-morph = ”OSHM: HipatnstIBHS in téadinfsirong®="%/1966rg = "853 [ |/ ||
x-morph = ”OSHM:HTd/Ncmsa” strong =ii@ph ="OSHM:HTo/Sp3ms” x-cantillationLevel = "0.1”

a” x-morph ="0SHM:HNcmsc”[ [ [ I I "§tkdnlgl# cl/38a8hg + d/8136Mmorph = "OSHM:HC/Tn”
x-morph = ”OSHM:HTd/Vqsfsa” x-cantilZinogw€1808B[1.1J07 [ | | [ [ ] x-morph = ”OSHM:HVqi3ms”
strong ="5234|[ ]Il ILI[][]a” x-morph xt@fHN&EDBHGmb2 "0.0” “strong = 413 | I/
x-cantillationLevel ="1.1.1” ”strong = 1 A5#iotpH # JOSHM:HR/Sp3mp” x-cantillationLevel = "0"[ |

157Q

158 Marks an anomalous form.
159y We read one or more vowels in L differently from BHS.
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19 7strong = "¢/8610|IILILILILILILLl/L] x-morph ="0OSHM:HR/Ncmsc/Sp2ms”

x-morph =”0SHM:HC/Vqq3cp” "strong x-daftillationLevel = "1” "strong = "c/3605|[ | [ /[ ]']

x-morph = "OSHM:HR/Sp3ms” x-cantillationdpler==08EM:HC/Ncmsc”l LU | strong =34
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"strong = "c¢/8130|ILI/LILIICICEEL] /L] 7strong =853 | ] x-morph ="0SHM:HTo”[ I LTI
x-morph ="0SHM:HC/Vqq3ms/Sp3fs” x-morph="0OSHM:HNcbpc” "strong ="d/5291 || [ /L]
x-cantillationLevel = 0" ] '* strong = "cx7medphl= TOSHMIHTd/Ncfsa” x-wType = "x-

a”  x-morph="0SHM:HC/Vqq3ms” ketiv” 6! "strong="413|L ] x-morph="0SHM:HR”_I I [[ ]
"strong = "1|LILILl/L ] x-morph = ”OSHM:KRySpdfs?”OSHM:HAampc” strong = d /5892 LI ]/L ]
x-cantillationLevel =71.1.0” "strong = ”549¥-motph/="0SHM:HTd/Ncfsa” x-

x-morph =”OSHM:HNcfpc” "strong = "1a@afilldtiohi.ével # *0.0” "strong ="d/8179|Ll/L L ILILILIICIC/L
x-morph =”OSHM:HNcmpa” x-cantillati caherglh="1ASHM:HTd/Ncmsa/Sd” x-

"strong = "c/3318| LI/ x-  cantillationLevel =”"07[] '® ”strong = "c,/559|LILILILILILL/LIC]
morph ="0OSHM:HC/Vhq3ms” strong = "692d1ph 5 0SHM:HC/Vqq3ms” x-cantillationLevel = "1.0.0”
a” x-morph="0SHM:HR/Sp3fs” x- ”strong="1|l[ ][l ]x-morph="0SHM:HNcmsc”
cantillationLevel = "1.0” ”strong = "80347strong = "d/5291|[ | [ /[ ] x-morph = ”OSHM:HTd/Ncfsa”
x-morph =”0OSHM:HNcmsa” strong = "746¥T¥pe= "x-ketiv? 162 163 Marks

a” x-morph="0SHM:HAamsa” x- a place where we agree with BHQ

cantillationLevel = "1” "strong = "c/559 |against[BHS fin reading L. 164 165

x-morph ="0SHM:HC/Vqq3ms”  x- “strong="413| ] | /x-morph="0SHM:HR”[ [ I ILILICICICICIC]/AI
cantillationLevel = "0.2.1” "strong = ”853}imdrph = "OSHM:HTd/Aampa” x-cantillationLevel = 71"
x-morph =”0SHM:HTo”[ [ L[/ Histworgre 2858802 x-morph = "OSHM:HTo”Ll/LIL LI st
x-morph =”0OSHM:HTd/Ncfsa” "strong =@+ TOSHM: ANcfsc/Sples”  x-

x-morph = "OSHM:HTd/Pdxfs” x- cantillationLevel =70.0.1” "strong = "5414| LI ILIILICI]
cantillationLevel = 70.2.0” ”strong = ”394Zhoé1iph =”OSHMIFIVqp1cs” x-cantillationLevel = ”0.0.0.0”
x-morph =”0OSHM:HVqp1cs” x-cantillatidstiengl="10376| [ [ [ [ ] |/[ | ] x-morph ="0SHM:HRd/Ncmsa’
"strong ="c/7126| LI/ x- ”strong =d/2088|[ ] 1L I[1/[ ] x-morph ="OSHM:HTd/Pdxms
morph ="0SHM:HC/Vqw1cs” ”strong = ¥4daitilladionllelél= 0.0.0” "strong = "1,/802|[ LI 11 ILILICL /L]
x-morph =”OSHM:HR/Sp3fs” x-cantillationienptl = "@IAM:HR /Ncfsa” x-cantillationLevel = ”0.0”
”strong = "c/3808| [ ILl/[ ] x-morph = "OstgHec/d 81 30| LI |strong = 146727

x-morph =”0OSHM:HVqgplcs” "strong = "W-motph= "OSHM:HC/Vqw3ms/Sp3fs”

x-morph = ”OSHM:HR/Sp3fs” x-cantillaticndrtitlatiohlével = 70" | 17 ”strong = "c,/2009 | 11111/
"strong="1331| L [LIIIICCOCE  x- x-morph =”0SHM:HC/Tm”[ L[ [ '] ]|strong="1931”

morph =”0OSHM:HNcbpa” x-cantillationkessdephi62”OSHM:HPp3ms” x-cantillationLevel = 71.1.1.1”

160 4 "strong ="d,/5291 LU0/ x-morph ="0OSHM:HTd/Ncfsa”  x-
cantillationLevel =”1.0”

161 4 strong ="d,/5291 |0/ x-morph="0OSHM:HTd/Ncfsa”  x-
cantillationLevel =”0.0.0”

162 4 "strong ="d,/5291 | JJJUUOOCO/O00000/L x-morph ="0SHM:HTd/Ncfsa”  x-

cantillationLevel =”1.0”
163

164 Marks an anomalous form.
165y We read one or more vowels in L differently from BHS.
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strong ="7760|JLILIL].] a” x-morph = "OSkirtpigpBrhk”l | [ [ [ /| ] x-morph ="OSHM:HR/Ncmsc”

"strong = "5949|[ | ILILILILILILIL) x-morph 2st@sigv: prvaset | LI A0

”strong = 1697 || ILILILILIT L] x-morph=niQ$HM: MD$EMAETTd /Ncfsa” x-cantillationLevel = 71.2”
x-cantillationLevel =”1.1.1.0” "strong = ¥x6A8 =" 3388)/I[[ | | ] a” x-morph = "OSHM:HC”

x-morph =”0OSHM:HR/Vqc” x-cantillatiotdteoeg="B318][ | | [ [ I [ [ ]x-morph ="0SHM:HVhp3ms”

”strong = "3808|[]_ILIL] x-morph = ”OSHM:EBFtillatidnLeviel & 1| str@hpstroagz278034 | LI

x-morph = ”OSHM:HVqp1cs” "strong = "ix‘hd@dth ="@SHM: HXcimsa” strong = "7451 | I[]

x-morph ="OSHM:HR/Ncfsc/Sp2ms”  a” x-morph ="OSHM:HAamsa” x-cantillationLevel ="1.1"
x-cantillationLevel =71.1.0” "strong = "183adhg/= 15021 | [ [ I ]a” x-morph = "OSHM:HR”

x-morph =”OSHM:HNcbpa” x-cantillationkawtHatiohl.evel = "1.0” “strong = "1330| L]

”strong = "c/428| LI/ x-morph-sispSHM BSHR:taNCfsc” “strong = "3478 | LI
x-cantillationLevel = ”1.0” “strong = ”133dhorph/="OSHM:HNp” x-cantillationLevel = "1”

x-morph = ”OSHM:HNcbpc” "strong = "1 3&8¢nlg/="Ic)/1|[I11/[ | 1/ | ] x-morph ="0SHM:HC/R/Sp3ms”[ I [LILILILICILIC)
x-morph = ”OSHM:HNcfsc/Splcs” x- x-morph ="0SHM:HVqi3fs” ”strong = "1/802|[ I I/
cantillationLevel = ”1” "strong = ”c/6566{-thorph 5”08 HVi:HR /Ncfsa” x-cantillationLevel = 0.1

x-morph =”0SHM:HC/Vqq3cp” x-cantillaioodgvel3808[1.07 | x-morph ="OSHM:HTn”[ [ I [ [ [ ]|strong="3201"
"strong = "d,/8071 |LILILILLLLILLO/] x-morph="0SHM:HVqi3ms” strong = "1,/7971 | UL/ /L
x-morph ="OSHM:HTd/Ncfsa” x-cantillatiomdmplel=08HM:HR /Vpc/Sp3fs” x-

"strong = "1/6440| 1L ILILILIl/L] x-morpheari@I$tMrifiRy®ebf@0” 1% Marks a

x-cantillationLevel = ”0.0” “strong = ”22G8#lce Whkerelwe agree with BHQ against

x-morph =”0OSHM:HAampc” strong = ”d B892 [redding/L.[ 167 168 "strong="3605|[ [ [ ]

b” x-morph = ”OSHM:HTd/Ncfsa” x-cantilatoophev&BSPIM:HNcmsc” /L LILLILIL]|strong ="3117”

18 »strong = "c/3947 | I/ x-morph =”OSHM:HNcempc/Sp3ms” x-

x-morph = ”OSHM:HC/Vqq3cp” x-cantilleaittill zsieh&ted:070"[ [ | 2 strong="c/518|[ [ I/ ]]

”strong = "2205|[ I 1L ][] x-morph = 40sHbb#pA ant@SHM:HC/C”L [ 1L ]|strong ="571”

strong = d/5892| I ILIL]/LILI1] b” x-morph-mt@SHN'DSHAR ¢ fsa T fstrgh =/1ao6ng= 1d/1931”

x-morph = ”OSHM:HTd/Pp3fs” x-cantillatiomdrplel:=2OBHM:HVqp3ms” x-cantillationLevel = "1.1”

"strong = "853 |/l x-morph = "OSHM:HEt'ang/="1d/1697|[|strodg="d/876morph = "OSHM:HTd/Ncmsa”
x-morph =”0OSHM:HTd/Ncmsa” x-cantilletianfitle¢lon? Vel = "1.0” “strong = "d /2088 |[ | I ]/

”strong = "¢/3256 |/ x- x-morph =”OSHM:HTd/Pdxms” x-cantillationLevel =717

morph ="0OSHM:HC/Vpq3cp” x-cantillatienrbeget23808][ | || x-morph ="0SHM:HTn”L LI 1] ]|strong="4
"strong = "853 |[ |/ ]| x-morph = ”OSHMoHToASiEsHEVI: HVNp3cp” "strong ="1331 | LI ILICICIEIC]
x-cantillationLevel =”0”] '° ”strong = "a/606pH =" OSHMIHNABpa” x-cantillationLevel = "0.0”

x-morph =”"0SHM:HC/Vqq3cp” "strong 2st8&i3¢/= 71/5491| [ | I l/[ | x-morph =”OSHM:HRd/Ncfsa”

x-morph = ”OSHM:HTo/Sp3ms” x-cantilletioPfpyel =xRefit’0%° [ | 2! ”strong="c,/3318| I ILIICICICICIT/L]

”strong = "3967 || L[| ] ] x-morph = ”OSHNbFAch${OSHM:HC/Vhq3cp” "strong = 7853 |||

”strong ="3701 | L[] ]']"] x-morph = "OStHNbFNicai?@3HM:HTo”[ | Il |/[ [ ]|strong ="d/5291”

x-cantillationLevel = "1.2.1” ”strong = ”cx5abphl= '[ASHM:IATd/Ncfsa” x-wType = "x-

x-morph = ”OSHM:HC/Vqq3cp” x-cantillketiwl.&fel’sttanz 6413 ||| ] x-morph ="0SHM:HR”LIL[L LI ILIL|[J|strong =

166Q

167 Marks an anomalous form.
168 We read punctuation in L differently from BHS.

169 4 strong ="1,/5291 |JCCCCO0,/O00000/0  x-morph="0SHM:HRd/Ncfsa”  x-
cantillationLevel ="0”
170 4+ »strong="d/5291|LLLLLCCCLAJC00O000/ x-morph="0SHM:HTd/Ncfsa”  x-

cantillationLevel ="71.2.1.0”
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x-morph = ”0OSHM:HNcmsc” strong = ”1064{otph/="OSHM:HTd/Ncfsa” x-cantillationLevel = ”1.0”
b” x-morph ="0SHM:HNcmsc”l [/ ["strongtedugdy 802 I 1 LA 00
x-morph ="OSHM:HNcmsc/Sp3fs” x- x-morph="0SHM:HC/Td/Ncfsa” x-cantillationLevel ="1"
cantillationLevel =”1.2.1” ”strong = "c/5iénig/= "¢/ 1 197 TIITATIT 00
x-morph =”"0SHM:HC/Vqq3cp/Sp3fs” a” x-morph ="0OSHM:HC/Vpq2ms” "strong ="d/7451| L ILIL1/[
"strong = 376 | JJLILILILILILLx-morph = X@StHyhHNOSHXI:HTd/Aamsa” x-cantillationLevel = ”0.0”
strong ="5892|ILl/LIILILILIL] b” x-morph’stt Qs V)R85 p 3| LI/
"strong ="b/68| LI/ x-  x-morph="0SHM:HR/Np” x-cantillationLevel = "0"[ |
morph =”OSHM:HRd/Ncfpa” x-cantillationfesebng £23888|[ | [ | | a” x-morph ="OSHM:HC”
"strong ="c/4191 |/ x-morplistridgiViie1VidqBts? | [ [ | x-morph ="0SHM:HVqi3ms”
x-cantillationLevel = "1.2” strong = ”358&|cartillationLevel = "1.1.0” ”strong = "5291 |[ | ]
a” x-morph ="0OSHM:HC”[ LI ¢} stuompgp="%2913M: HNcfsa” x-wType = "x-
a” x-morph =”OSHM:HVqp3fs” ”strong k&3 strong = 71330 LI LI
x-morph ="OSHM:HNcfsa” x-cantillatiom-avetph™2 JOSHM:HNcfsa” x-cantillationLevel = "1.1”
”strong = "b/3478 | A0Pstrong = 781 |LILIICLE U x-morph = ”OSHM:HVPsfsa”
x-morph =”OSHM:HR/Np” x-cantillationd-esatiHitidiiLevel = "1.0” "strong = "1/376 | ILILILILIL/L 1]
"strong = "1/2181|ILILILILILIL/L x-morphmd@SHNMGEIMJdR /Ncmsa” x-cantillationLevel = 717
x-cantillationLevel = 1.0” strong = ”1004$tfiong =c/4672|[ /LI /L]
b” x-morph = ”OSHM:HNcmsc” ”strong =X’tjorph + POSHM:HC/Vqq3ms/Sp3fs”
x-morph = ”OSHM:HNcmsc/Sp3fs” x-cantithangnt&8d6+ 17 | | | | x-morph = "OSHM:HNcmsa”
strong="c/1197|LILILILILIICICIICC/LT] x-cantillationLevel = 0.0.0” strong = "b/5892| I 11 1L1/L L]
a” x-morph ="0SHM:HC/Vpq2ms” "strohg s tibipts: [ OSHVIHHRA/Ncfsa” x-cantillationLevel = 70.0”
x-morph = ”OSHM:HTd/Aamsa” x-cantil stiemgeseéle79001 LI ]/[]]x-morph ="0SHM:HC/Vqq3
”strong = "m,/7130|ILl/LI LN A strong = 75973 | LI /LILILILI ] a” x-morph = ”OSHM:HR /Sp3fs”
x-morph =”OSHM:HR/Ncmsc/Sp2ms”  x-cantillationLevel =071 ?* ”strong ="c,/3318 |1
x-cantillationLevel = 70" ][] ?? strong = 3368BHH =+ T{OSHM:HC/Vhq2mp” "strong = "853 I]
a” x-morph ="0SHM:HC”[ I [} stwempp="4@51281: HTo” [ [ LI ]/L LI I |strong = "8147”
x-morph =”0OSHM:HVNi3ms” "strong = 87A6drpH = *OSHM:HAcmdc/Sp3mp” x-
x-morph = ”OSHM:HNcmsa” x-cantillaticmimtiiéhtidALevell2 ”1.3.1.1” "strong = "413|[ /][]
”strong = "7901 | I LILILI[]"] x-morph = "GstidvatodSEM:HR” [ [ ][I ]|strong ="8179”
x-cantillationLevel =”1.1.1.0” [ | strong =581l =”OSHM:HNcmsc” x-cantillationLevel = 71.3.1.0”
a” x-morph =”OSHM:HR”L LI [stsompe 2805892 || 1]/ | ]b” x-morph =”OSHM:HTd/Ncf
x-morph =”OSHM:HNcfsa” "strong = "1 T&6dong + td /1931 |1/ I[]x-morph ="OSHM:HTd/Pp3fs”
x-morph =”0SHM:HVgsfsc”L LI LI ¥steortgkatibhbzvel = 71.3.1” strong = "c,/5619 |1
x-morph = ”OSHM:HNcmsa” x-cantillationhemgdb=2TQSHM:HC/Vqq2mp” "strong = "853 |1/ I I I ||
"strong = "c/4191 | LI ILILIL]/L) x-morphmotpS EMASEM qiBeSp3mp” “strong = "b/68 | LI LI
x-cantillationLevel = "1.1.0” "strong = ”1%7adirph £”OSHM:HRd/Ncfpa” x-cantillationLevel = "1.3.0”
x-morph ="0SHM:HTa”[ [ ILILI/LILI U Hstsorgre 278142} ]/L]]x-morph ="0SHM:HC/Vqq3c
x-morph =”0SHM:HAcmdc/Sp3mp” x- x-cantillationLevel ="1.3” "strong = "853 |||
cantillationLevel = "1.1” "strong = "d/37&|mlorpH = YOSHM:HTo”[ | I 1/ ]']|strong="d/5291”
x-morph = "OSHM:HTd/Ncmsa” x-cantil betivoripdel 20SHMOHMTd /Ncfsa” x-wType = "x-
"strong ="d,/7901 | LI/ x-m dugtine YO S#iddrig /38R his4”! | a” x-morph = "OSHM:HR LI
strong ="5973|[ I | ] a” x-morph = "OSHM:HiRph =" OSHM; Nt ist’org artdi86aiiLevel = "1.2.0”

171 4+ »strong = 5291 | ILI UL x-morph = "OSHM:HNcfsa”

1724 7strong="d/5291| 00000000000/ x-morph="0SHM:HTd/Ncfsa”  x-
cantillationLevel ="1.2.1”
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strong ="834|J_LILILILI_l a” x-morph = "@SHMiHAidnLevel = "0.0.0” strong = 834 | ILILILIL]

”strong = "3808|[] || x-morph = "OSHM AT Baitiérph =" OSHNktdding = 168171 | ||strong="7901"

x-morph = ”OSHM:HVqp3fs” strong = "b&88&PH + TASHM:HVqp3ms” strong = "5973 | ILI/L LI

b” x-morph =”OSHM:HRd/Ncfsa” x-cantilatinmighe:2OBE2N:HR /Sp3fs” x-cantillationLevel = ”0.0”

"strong = "c/853| L ILIL1/L ] x-morph = "CsHmgCAre05| I/ TI/II/|sttorgrerfily 37€SHM: HR /Ncmsc/Sp3ms”
x-morph = ”OSHM:HTd/Ncmsa” x-cantil letianfia¢lonT kel = 707 ] *° ”strong ="c/1/5291 |LIILI/L]/[]

strong ="5921|[ || a” x-morph = ”OSHM:HiRIph =" OSHM{K€EsRg A7 %-WType = "x-

x-morph = ”OSHM:HNcmsc” strong = "83ddti%’ 174 17> Marks a place where we

a” x-morph ="0SHM:HTr”_ LI ]Il ]]| sipweg with®HIQ against BHS in reading

b” x-morph = ”OSHM:HVpp3ms” x-cantillatiGAlstedsg’+.08808|[ | || x-morph ="0SHM:HTn” I [LILILILILII[]]stron;
”strong = "853 ||| | | x-morph = ”OSHM:Hil'omdrph * P Ok BO2R” "strong = 1697 | LI LI
x-morph = ”OSHM:HNcfsc” "strong = "7 46jlofph A " OSHM:HNcmsa” x-cantillationLevel = "1.1”

x-morph = ”OSHM:HNcmsc/Sp3ms” x- “strong ="369|[ || [ | | x-morph="0SHM:HTn”

cantillationLevel = "1” strong = "c/1197 |"sttdng ="1/5291/ 1] /[ | x-morph = "OSHM:HRd/Ncfsa”

a” x-morph ="0SHM:HC/Vpq2ms” "strorgwT 3743k ketiv’ /77 Pstrong = 2399 |1 I I ]

x-morph =”OSHM:HTd/Aamsa” x-cantil betivoripdyel 299HO: HNcmsc” ”strong = "4194 | ][]

"strong = "m,/7130|JLl/LILLLO0N A kimorph = ?OSHM:HNcemsa” x-cantillationLevel = 1"

x-morph = ”OSHM:HR/Ncmsc/Sp2ms”  strong = "3588|[ ] [ || a” x-morph = "OSHM:HC”
x-cantillationLevel = 70" 1[] ?° strong = %e¢5ifl|ldtiopl.evel = 70.1.0.0” strong = "k/834 |1/

a” x-morph =”0OSHM:HC/C” I I I gt kinlotython3GSHVZARY Tr” strong = 76965 | LI

b” x-morph ="OSHM:HRd/Ncmsa” x-carhillatimnprel ©SHMIEqi3ms” "strong = 7376 | | 1L 1]

"strong = "4672|[ ] ILILILILILJL]x-morph = XS BitdtHV{@SHM:HNcmsa” strong = 75921 |||

"strong = "d/376|LILILILI_ILl/L]] x-morph & sosianptiF doseivkatR 7| LILl/LILCLL | strong = 774537
x-cantillationLevel =71.1.1” "strong = ”8%3}iorph = "OSHM:HNcmsc/Sp3ms” x-

x-morph =”OSHM:HTo” [ [ /[ I]|strongeaidilk@8iriLevel = 70.1.0” "strong = "c/7523|[ I l/L LTI /L00]
x-morph =”"OSHM:HTd/Ncfsa” x-wType z=tixerph = "OSHM:HC/Vqq3ms/Sp3ms”

ketiv” 173 ”strong ="d/781 | LILILILILILI P§tkdng= 5315|111 x-morph =”OSHM:HNcbsa”

x-morph = ”OSHM:HTd/VPsfsa” x-cantilletianfitlationl edél = 70.1” strong = 3651 | LILILILILI

"strong = "c/2388 | LI LILILILI/LI ] x- ¢” x-morph ="0SHM:HTm” x-cantillationLevel = ”0.0”

morph ="0SHM:HC/Vhq3ms”[ ||/ I [ Mstwtrges 28697 | [ 11 L[]/ x-morph ="0SHM:HTd/Ncmsa”
x-morph =”OSHM:HR/Sp3fs” "strong = "&toeg = "1dy2088|I1 [ [ [ |/ 1 x-morph = "OSHM:HTd/Pdxms”
x-morph = ”OSHM:HTd/Ncmsa” x-cantilbetianfithe¢lon?¥El = 70" | 27 strong="3588|[ [ [ [ ||

"strong = "c¢,/7901 | ILILILILILI/LIL] x-morph »ii@$piM:HQSVAG 365 strong = "b,/7704 | LI /L]
strong ="5973|ILl/LILILILILI] a” x-morphb2 Q8 BidEHR(SSBI: HRd/Ncmsa” x-cantillationLevel = 71.0”
x-cantillationLevel = 1" ”strong = "c/4193ttdnlgl=/14672| 1/ I L[] x-morph = "OSHM:HVqp3ms/Sp3fs”
x-morph = ”OSHM:HC/Vqq3ms” x-cantillatamfiBuelon 8@ ”1” ”strong = 6817 | LI

"strong = "d/376| I LI/ 1] x-morph =i@8ph:HD8AMHSAp3fs” x-cantillationLevel =70.1.1”

173+ 7strong="d/5291|J00000000/000000/0  x-morph="0SHM:HTd/Ncfsa”  x-
cantillationLevel ="1.1.0”
174 + »strong = "c/1/5291 | LLUOOOO0,/000,00000/0/0 x-morph = OSHM:HC/Rd/Ncfsa” x-

cantillationLevel ="1.1.0”

175

176¢c We read one or more accents in L differently than BHS. Often this notation indicates a typo-
graphical error in BHS.

177 4 strong ="1/5291 |LILILILUCOC/0000C0A] x-morph="0SHM:HRd/Ncfsa”  x-
cantillationLevel ="1.0”

178 4+ 7strong="d/5291|000OC00/000000/0  x-morph ="0SHM:HTd/Ncfsa”  x-
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"strong = "d/5291 |[[LILl/[]x-morph = "OSHMmbF@hNcF@QSHM:HTr” strong = 6031 | LIL|/LILILILILIL
x-wType = "x-ketiv” 178 ”strong = "d/78 " kimdrph = "OSHM:HVpp3ms/Sp3fs”

x-morph = ”OSHM:HTd/VPsfsa” x-cantilletanfithationl@dél = 70.1” “strong = 3808 | LI ||

”strong ="¢/369| LI/ x-morph =X@sstphBCOSAM:HTn”L LI ]|strong =73201”
"strong = 3467 || LI 1L x-morph=ni@$HM HOSMSAY qi3ms” "strong = 77971 |[ /LI
x-cantillationLevel = ”0.0” "strong = ”1|[Ix.fnbfiph = "OSHM:HVpc/Sp3fs” x-cantillationLevel = 0.0”
x-morph = ”OSHM:HR/Sp3fs” x-cantillati6hMandts="plide where we agree with BHQ

(128 strong="3588|[ I | [L]']a” x-morph agZsiiBEE @i redding 1l | 1#% stférstrsde 723605 | ] ]
x-morph =”0OSHM:HVqi3ms” "strong = "8#6rph £ OSHM:HNcmsc” /L |strong =73117”
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